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Question Number : 1 Question Id : 64635012680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is an example of higher order of cognitive learning outcome?
(1) Learning of facts and their sequences
(2) Learning roles and action sequences
(3) Learning of concepte and abstractions

(4) Learning of awareness and valuing

Options:
64535049599, 1



E4E350433900. 2
645350433901, 3
645350433902, 4

Question Number : 1 Question Id : 64635012680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350495899 1

645325049900, 2

64535049301, 3

64535043302, 4

Question Number : 2 Question Id : 64635012681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following i=s the kev behaviour contributing to effective teaching?
(1) Summarising what was teld by a student

{2) Encouraging students to elaborate on an answer

(3) Using direct and indirect questioning
{4} Explaining concepts in a la gic al step b:.' step presentation
Options:

545350433903, 1
64535043304, 2
64535043305, 3
E4E3504380E6. 4

Question Number : 2 Question Id : 64635012681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535049903, 1
64835049904, 2
E4E35049305. 2
64535049906, 4

Question Number : 3 Question Id : 64635012682 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Instructions which encourage live participation and interaction through online classes are

called

(1) Synchronous instructions (2} Asvnchronous instructions

{3) Traditional instructions (4) Theoretical instructions
Options:

E45350433907. 1
645350433908, 2
64535043309, 3
64535043310, 4

Question Number : 3 Question Id : 64635012682 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043307, 1
E4E35043908. 2
E4E35043903. 3
645350433910, 4

Question Number : 4 Question Id : 64635012683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What are the elements of evaluation plan?

ia) Purpose
{h) Resources
ie) Analysiz

(d) Aunthority

Select the correct answer from the options given below:

(1) (a) and (c) (2) (b)only
(3) {b), {e) and (d) 4) (a), (b) and ()
Options:

64535049911, 1
E4E35043912. 2
E4E35043913. 3
64535043914, 4

Question Number : 4 Question Id : 64635012683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535043911, 1
64535049912, 2
645350433913, 3
E4E35049914. 4

Question Number : 5 Question Id : 64635012684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which tvpe of evaluation focusses on the identification of deficiencies and difficulties of the
learner?

(1) Summative evaluation
(2) Follow up evaluation
(3) Diagnostic evaluation
(4)  Criterion — referenced evaluation
Options:
64535043515 1
64535049916, 2
64535049917, 5
64535049915, 4

Question Number : 5 Question Id : 64635012684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fm W % T | ATaTRal 1 I UE hieATsal sl qge W g faa w27
(1) S g
() g e
(3 i e
(4)  FE-wEi g

Options:

645350439151

64535043916, 2

64535049917, 2

E4AE35049915. 4

Question Number : 6 Question Id : 64635012685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Position papers are

{1) Compiling of academic articles

{2y Providing review articles

{3} Offering a synopsis of an extended research
4 Highlighting of izsues and depiction of status

Options:

64535049919, 1
64535049920, 2
64535049921, 5
64535043922, 4

Question Number : 6 Question Id : 64635012685 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350499139, 1
E4E35049920. 2
64535049921, 5
64535049922, 4

Question Number : 7 Question Id : 64635012686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Casze studies are

(1) Studies conducted in areas of genetics and microbiology

{2) In-depth examination of a subject and its related conditions
(3)  Areport onthe exizsting socio-political condition

4) Specialized research in the areas of health and sanitation

Options:

64535049923, 1
64535043924 2
64535049325 =
4835049926 4

Question Number : 7 Question Id : 64635012686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
4635049923, 1
64535049924, 2



E4E35043925. 3
EAE35043926. 4

Question Number : 8 Question Id : 64635012687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A hypothesis iz

(1) A certain and established finding

(2) A part of the research question

{3} A strategv of evaluating data

(4) A tentative statement providing an explanation
Options:

64535043927, 1
64535049928, 2
E4E35043929. 3
E4E35043920. 4

Question Number : 8 Question Id : 64635012687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535049927, 1
64535049928, 2
64535049329 2
4835049920 4

Question Number : 9 Question Id : 64635012688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tertiary source of data is
(1) Films, hoardings and posters
(2 Government gazette, newspapers and magazines
(3)  Information derived from both primary and secondary sources
) Data collected from policy papers

Options:

4635049951, 1
64535049932, 2
64535043933 =
64535049334 4

Question Number : 9 Question Id : 64635012688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

646535049531, 1

64635049932 2

645350434933 2

64635049934, 4

Question Number : 10 Question Id : 64635012689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
From the following list identify the qualitative research characteristics and select vour
answer from the codes given below:
(1} Creating purpose statements and research gquestions
(ii) Stating the purpose and rezearch questions in a broad way
iiii) Cellecting data based on words from a small number of individuals
(iv) Collecting numeric data and statistical analyeis

iv) Using text analvsis and interpreting larger meanings of the findings

Code:

(1) (ii), (iii) and (v) (2) (1), (ii) and (iii)

(3 (1), (ii) and (iv) (4) (i), (i11) and (v)
Options:

645350439355, 1
E4E35043936. 2
E4E35043937. 3
64535043928, 4

Question Number : 10 Question Id : 64635012689 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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645350435935, 1
645350439356, 2
E4E350438937. 3
E4E35043935. 4



Sub-Section Number: 2
Sub-Section 1d: 646350596
Question Shuffling Allowed : Yes

Question Id : 64635012690 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuesticon Label | Comprehension

ERead the following passage and answer gquestions

Ferhaps what bothered the media in 19705 was the shift in liberty being suggested. For
centuries, journalists had operated on the basis of negative liberty, or freedom from external
restraints. Suddenly, however, the thrust was positive freedom, a freedom for pursuit of
zome predetermined goals. This new social responsibility zeems grounded on a school of
thought that sees negative liberty as insufficient and ineffective, somewhat like telling
people they arve free to walk without first making sure they are not crippled. Who better than
government is able to provide humanity with appropriate means? Government, even a
democratic government, iz seen by social responsibility adherents az the only foree strong
encugh to guarantes effective operation of freedom. This doss not mollify observers who find
zocial responsibility to be only slightly disguised version of authoritarianism Media
philosopher John Merrill has been one of the most outspoken critics of the theory. To him,
the proposition that pluralism of ideas should be governmentally mandated is ludicrous.
Journalists, he savs, must retain their freedom to make their own news and editorial
judgements. Even well intentioned attempts by outside groups seeking media improvement
are zelf serving, and inevitably lezsen the autonomy of journalists, Merrill maintains.
This leads us to the issue of media autonomy.

Sub questions

Question Number : 11 Question Id : 64635012691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the basiz of the operation of journalists earlier?

(1) Freedom of limited choices (2) Social responsibility
(3) Free from outside pressure (4) Government eontrol
Options:

645350435959, 1
64535049340, 2
E4E35049941. 3
E4E3504994%2. 4

Question Number : 12 Question Id : 64635012692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Poszitive freedom means

(1) Grounded thought {2) Purszuing eertain set goals
(3 Freedom with conditions (4) Providing identified means
Options:

E4535043943. 1
64535043944, 2
645350459945, 3
64535043346, 4

Question Number : 13 Question Id : 64635012693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Some scholars consider social responsibility aspect of media as

(1) Negative freedom (2) Pluralism
(3) Democratization of media (4) Authoritarianism
Options:

64535043947, 1
6453504339458, 2
64535049949, 3
E4E35043950. 4

Question Number : 14 Question Id : 64635012694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to, John Merrill, seeking improvement in media, is

(1) Appropriate (2) Well-intentioned
3 Inevitable (4) Self-serving
Options:

645350435951, 1
64535043952, 2
64535049952, 3
E4E35043954. 4

Question Number : 15 Question Id : 64635012695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The passage eritically analvses
(1) Operation of journalists
(2) Mandate for government
(3) Social responsibility theory of media
4 Remimented autonomy of journalists
Options:
E4535049955. 1
E4525043958. 2
E4535043957. =
64535043955 4

Question Id : 64635012690 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635012691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043955, 1
645350493940, 2
645350433941, 3
E4E35049942. 4

Question Number : 12 Question Id : 64635012692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535049943, 1
4835049944 2
E4E35049945 =2
64535049946, 4

Question Number : 13 Question Id : 64635012693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043947, 1
64535049945, 2
E4E35043943. 3
E4E35043950. 4

Question Number : 14 Question Id : 64635012694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535043951, 1
E4E35043952. 2
E4535043953. 3
54535043954, 4

Question Number : 15 Question Id : 64635012695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64635049955 1

646535049956, 2

64635049957 2

645350435955, 4

Sub-Section Number: 3
Sub-Section 1d: 646350597
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635012696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A):  Media entertainment does not enhance the cultural level of society.

Reazon (R): Most media entertainment encourages ezcapism, not content guality

Choose the correct answer from the options given below:

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) 15 true, but (R) 1s false

i4) (A) iz falze, but (R) iz true

Options:

64535049959, 1
64535049360, 2
48350499651, 2
64535049962, 4

Question Number : 16 Question Id : 64635012696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535049959, 1
64535049960, 2
64535043961, =
64535049362, 4

Question Number : 17 Question Id : 64635012697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Communieation through colours can result in
{a) Aesthetic codes
{b) Cultural codes
{e) Semantic codes
(d) Binaryv codes

Choosze the correet answer from the options given below:

(I} (a)and(d) 2y (b) and {(c)
(3)  (b)and (d) 4} (a)and (b)
Options:

645350433962, 1
E4E35043964, 2
E4E35043965. 3
E4535043966. 4



Question Number : 17 Question Id : 64635012697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35043963. 1
64535043964, 2
645350433965, 3
64535043366, 4

Question Number : 18 Question Id : 64635012698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the communication process, signs derive meanings through
(1) The subjectivity of various components
(2) The objectivity of the decoder
(3 The network of inter-relations

4) The neutrality of the channel

Options:

4535049967, 1
64535049968, 2
64535049369, =
64535049370, 4

Question Number : 18 Question Id : 64635012698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535043367, 1

64535043968, 2

64535043969, 3

E4E250435970. 4

Question Number : 19 Question Id : 64635012699 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Language of communication also constitutes

(1) The random world {2} The social world
(@)  The divine world {4} The unsanctified world
Options:

64535043971, 1
E4E350498972. 2
E4E35043973. 3
E4535043974. 4

Question Number : 19 Question Id : 64635012699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4535043971. 1
64535043972, 2
64535043973, 3
64535043974, 4

Question Number : 20 Question Id : 64635012700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Connotative communication inside the elassroom is

(1) Direct (2) Critical
(3) Implicit (4) E=xplicit
Options:

645350435975, 1
64535049976, 2
E4E350498977. 3
E4E35043978. 4

Question Number : 20 Question Id : 64635012700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35043975. 1
E4E35043976. 2
64535043977, 3
64535043975, 4

Question Number : 21 Question Id : 64635012701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Choosze the mizsing term out of the given alternatives : QPO NML, EJI,

(1) HGF (Z) CAB
(3) JEL 4y GHI
Options:

64535043979, 1
E4E35043980. 2
E4E35043981. 3
E4535043982. 4

Question Number : 21 Question Id : 64635012701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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QPO, NML, KJI,

(1) HGF (Z) CAB
# JKL (4 GHI
Options:

645350435979, 1
64535043350, 2
E4E35043981. 3
EAE35043982. 4

Question Number : 22 Question Id : 64635012702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The zum of all even natural numbers between 1 and 21 is

(1) 3280 (Z)y 3321
51] 1646 (4) 1840
Options:

64535043953, 1
64535043984, 2
645350433985, 3
64535043356, 4

Question Number : 22 Question Id : 64635012702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 3280 (2 3321
(3 1646 (4) 1640
Options:

E4E35043983. 1
E4E35043984. 2
64535043985, 3
64535043956, 4



Question Number : 23 Question Id : 64635012703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a bag, there ave coins of 5 ps, 10 ps and 25 psin the ratio of 3:2:1. If there are Re. 80 in all
how many 5 ps coins are there?

(1) 100 (2 200
(% 300 (4) 400
Options:

E4E35043987. 1
64535043988, 2
64535043985, 3
64535043930, 4

Question Number : 23 Question Id : 64635012703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 100 (& 200
(3 300 (4 400
Options:

E4E35043987. 1
64535043988, 2
64535043959, 3
64535043930, 4

Question Number : 24 Question Id : 64635012704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mansj's commizsion is 10% on all sales upto Rs. 10,000 and 5% on all sales exceeding this.

He remits Rs. 75,500 to his company after deducting his commission. The total sales will
come out to be

{I) Rs. 78000 {2y Rs. 80,000
(3  Hs 85,000 {4y Rs, 90,000
Options:

64535043951, 1
64535043932, 2
64535049932, 3
E4E35049954. 4

Question Number : 24 Question Id : 64635012704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
F T 10,000 7= $ fikt & == 1 wiioe 10% @ v o #1500 F sme w9 5% R
W FHEH HEH % AE A% FFH FFE F T 75,000 woR w0 #) T 1 % ae0ta am 3y

(1) ¥ 78,000 {2) %30000
(3 ¥ 85,000 4) T 20,000

Options:



E4535043991. 1
64535043982, 2
645350439583, 3
64535043934, 4

Question Number : 25 Question Id : 64635012705 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
The simple interest on a certain sum of money for 3 vears at 4% per annum is half the

compound interest on Re. 2,000 for 2 vears at 10% per annum, The sum invested on simple
interest iz

(1) Re. 8750 (2) Re. 1,750
(3 Rs. 2,500 (40 Rs. 3,500
Options:

64535043955, 1
64535043936, 2
64535049937, 3
E4E350439395. 4

Question Number : 25 Question Id : 64635012705 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

foredt vt w 4% ot & T E 3 & = mumm s € 2000 $ geuin R Tw 10% wids S m e 2
i ¥ Twglg TF F A R WmuT e § ey T e #5 i am A7

(1) T 8,700 2y TL7a0
)] ® 2,500 {4y * 3500
Options:

E4535043955. 1
E4E350439396. 2
64535043957, 3
64535043935, 4

Question Number : 26 Question Id : 64635012706 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

If proposition ‘some milk is eurd’ is taken to be true then which of the following propositions
can bE' fﬂlEE?

(1) No milk i= curd {2y All milk is curd
(3 Some curd is milk {4} Some milk is not curd
Options:

E4E35043995. 1
E4E35050000. 2
64535050001, 3
64535050002, 4

Question Number : 26 Question Id : 64635012706 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Yes

Yes

Yes

Yes



Itz 7 T To T T AW ¥ F W 9 9w Fetatan suR a5 2 | e wm e

(1) wrdgm o o wm R (2) =+ 78 o g R
(3 FowHwEmY 4 ¥o 78 = o gm
Options:

E4E350439945. 1
E4E35050000. 2
64535050001, 3
E453505000Z. 4

Question Number : 27 Question Id : 64635012707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two premises with four conclusions drawn from them. Which of the
following conclusions eould be validly drawn from the premizes?
Premises: (i) All cats are dogs

(11) All dogs are cows

Conclusions:

{a) All cats are cows
(b} Some cows are cats
{c) All dogs are cats
(d) Nocow isdog

Select the correct answer from the options given below:

(1) (b, (c) and (d) (2) (d)only
3) (a)and (b) 4 (b)and (d)
Options:

E4E35050003. 1
E4E35050004, 2
64535050005, 3
64535050006, 4

Question Number : 27 Question Id : 64635012707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9/ 7 e are e e # Faam A e e o #) o Al | Reetehan 9 8 w90 e
et = o E7

AT A (1) = g 54 )
(ii) =] Eu_;l T #

foreprd - (a) =t fafzsi T 8)
(b) F T Tt £
(c) =it %= Tagdh &
(d) = o T R

Jr= fim o faeed O O ot 3w 1 == Sfa

(1) (b}, (c) =i (d) (2) === (d)
(3) (a2 b 4 (b)#id)
Options:

E4E35050003. 1
E4E35050004, 2
64535050005, 3



EAE35050006, 4

Question Number : 28 Question Id : 64635012708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which method of arriving at knowledge the emphasiz is on both proceeding from

particular to general and from general to particular in a combined way?

(1) Inductive method
{2) Deductive method
{3) Scientific method
{4) Analogieal method
Options:
E4E25050007. 1
64535050008, 2
646350500039, 2
64535050010 4

Question Number : 28 Question Id : 64635012708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 7% T4 1 fEm fafa § dgw e @ fafe & anrm @ o ofn e @ fafm o smoEm W
Ta fom 9 2

(1) s iy

(3 T i

(3) e fafy
(4 HgEs fafa
Options:

64535050007, 1
64535050008, 2
E4E35050003, 3
EAE35050010. 4

Question Number : 29 Question Id : 64635012709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identifj.‘ the reasoning in the follawing arguments

‘A pilot without flight plans is like an artist without paints’.

(1) Analogical {2}  Deductive
(3) Induetive (4) Hypothetical
Options:

64535050011, 1
64535050012, 2
E4E35050013. 3
EAE35050014. 4



Question Number : 29 Question Id : 64635012709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frtalias 7= aag § T & TH0 W TEaE ey

fam el 7=m O aren R, TION % 9 FEET & TE g A

(1) o= (2) T
{3} AT (4 O
Options:

E4E35050011. 1
E4E35050012. 2
B4535050013. 3
64535050014, 4

Question Number : 30 Question Id : 64635012710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The proposition ‘some trees are green’ is equivalent to which of the following propoesitions?
{a) Many trees are green

(b}  Some green things are trees

() Some green things are not non-trees

id) Trees are usually green

Select the correct answer from the options given below:
(1) (&), (&), () and (d)
(2)  (b)and (d)
(3 {a) only
4 (c)and (d)
Options:
64535050015 1
64635050016, 2

64535050017, 3
E4EZ5050015. 4

Question Number : 30 Question Id : 64635012710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T o Yo R ¥ Frefofen § @ fe vhew ¥ wed 27
(&) = Tw

(b) %= 7l == 9z 4|

(©) %o ¥ = -1 7 #

(d) W F A A

gt fom o forre & & wh T TR i
D (@), (), (@) #h(d)

(2) (b))

(3) wEr(a)

@ (o) ()

Options:

64535050015, 1
64535050016, 2
64535050017, 2
E4E35050018. 4

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

4
646350598
Yes

Question Id : 64635012711 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (31to 35)
Juestion Label - Comprehension

Consider the following two tables (I and II) that show the percentage wise distribution (%) of
the number of laptops sold by a shopkeeper during a period of six months from April to
September 2018 and the ratio between the number of laptops sold of brand HF (H) and
brand DELL (D) during the same six monthe A total of 45000 laptops have been sold during
these six months. Study these tables I and II and answer the questions that follow

I. Sale of laptops Month wise II. Laptops Brand Ratio
Name of Month | % of Lapteps | | Name of Month | Ratis
April 17 H|D
May 22 April 8|7
June 25 May 4156
July g8 June 3|2
August 12 July 7]5
September 16 August 718

September 7|9

Sub questions

Question Number : 31 Question Id : 64635012712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is the ratio of the number of laptops sold of brand D during April to those sold during
September of the same brand?

(1) 119 : 145 (2 116:1356
(3) 119 : 135 4 119:130
Options:

64535050015, 1
64535050020, 2
64535050021, 3
EAEZS050022, 4

Question Number : 32 Question Id : 64635012713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If 35% of the laptops =old of brand H during August were sold at a discount, how many
laptops of brand H during that month were sold without a discount?

(1) 8a2 (2y 1835
(3) 1638 4 B85
Options:

64535050023, 1
64535050024, 2
E4E35050025, 3
EAE3I5050026. 4

Question Number : 33 Question Id : 64635012714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the chop keeperearned a profit of ¥ 434 on each laptop cold of brand D during July, what
was his total profit earned on the laptops of that brand during the same month?

i1 T 6,51,900 {(2) ¥ 6465000
(3 £ 6,49, 500 {4) T 6,51,000
Options:

E4EZ5050027. 1
E4E35050028. 2
B4E535050025. 3
64535050020, 4

Question Number : 34 Question Id : 64635012715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The number of laptops sold of brand H during April is approximately what percent of the
number of laptops zold of brand H during September?

() 110 (2) 140
(3) 130 4 130
Options:

64535050031, 1
EAEZ5050032. 2
E4E35050033. 3
E4535050024. 4



Question Number : 35 Question Id : 64635012716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is the total number of laptops gold of brand D during May and June together?

(1) 9800 (%) 10000
(3) 10500 (4) 15000
Options:

E4E35050035. 1
E4E35050036. 2
E4E35050037. 3
64535050028, 4

Question Id : 64635012711 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label @ Comprehension

Frafafian & mifemmad (1 o I1) w0 fem 0 o oim, 2018 & fiman, 2018 7% & o 9+ &
2T T R 0 F T Aveia i e w1 wiveran G (% 9) i e #) e f, 59 5w
= ¥@y F 2= #vs HP (H) # #vs DELL (D) ¥ = 7o @y 1 w2 5 4= o5 = o
T T 1 o % e % 45000 Seey # fa ) wien [ et W e woTan Se
fom o w9 =1 I 2

I #mefe & ofmam fslt | | L @y wfvsi =1 o
E A A % | | Wi o A | aEem
e 17 H|D
i 22 April 8 | 7
= 25 May 4 | D
ﬁﬂ'li 8 June 312
T 12 July T|6
fean 16 August 7(8
September T |=

Sub questions

Question Number : 31 Question Id : 64635012712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
SMEtE I DEs R MATN A sh i e s i R M A T =

e R

{1y 119:145 {2 116:135
(3) 119: 135 i4) 119:130
Options:

64535050019, 1
64535050020, 2
EAE35050021. 3
BAEZ5050022, 4

Question Number : 32 Question Id : 64635012713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



R F g ars H % dwfu 35% % foms (o) e ma s sfH s g as H+
faem dwefy famn frome % 39 mo?

(1) asa2 (& 1635
i3 1838 (4) 885
Options:

64535050023, 1
64535050024, 2
E4E35050025, 3
EAE3I5050026. 4

Question Number : 33 Question Id : 64635012714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
afg, TR F For % 2 wive D # wed Aedt # W T 434 1 e 1 W s e F 2
T AivE & AT W e o W fEen e

(1) ¥ 6,51,900 (2) T 646500
{3) ¥ 6,40,500 {4 ®§,51,000
Options:

64535050027, 1
64535050028, 2
E4E35050029. 3
EAE35050030. 4

Question Number : 34 Question Id : 64635012715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ferer & 2 wfs H 5 39 e fwfe 5 guw 5 wim fey afrmm =9 #ive 5 9 sfo d 39 my

(1) 110 (2) 140
{3 130 4 130
Options:

64535050021, 1
E4E35050032. 2
EAE35050033. 3
EAE35050024. 4

Question Number : 35 Question Id : 64635012716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=i #R 97 o wE w e @ve D % % e ae i

(1) 9500 (2) 10000
3 10500 (4) 15000
Options:

E4E35050035. 1
E4E35050036. 2
E4E35050037. 3



EAE3505003E. 4

Sub-Section Number: 5
Sub-Section 1d: 646350599
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635012717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Why would BCC: be used in an &-mail?

(1) BCC: allows the recipient to identify all the other recipients in the list when a group
email address is used

(4] BCC: allows the sender to indicate who the email is for if there is more than one

recipient

(3 BCC: allows the sender of a message to conceal the recipient entered inthe BCC: fisld

from the other recipients
i4) BCC: allows recipients to be vizible to all other recipients of the message
Options:
E4E35050023. 1
E4E35050040. 2
64535050041, 3
E453505004%. 4

Question Number : 36 Question Id : 64635012717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
7w § BCC : =1 waim =9 fem = &7

(1) == e @ Fm = v fem = 2 1 Sfid BOC - % e 9 99 9 & o = sfatr 4
TR ¥ HET B

F L Y

2 TEoswidsiEiiMEH ARG IEECC. T EMTE R it
T s fom 2

(3) ol &89 = I9s BCC: % wam & BCC : Fivs & wiae St 36 we=m o= wfufrai & foar e
R 3

(4 HfEft BCC . =1 wam = e &9 & o wofi sl =50 2w wen €

Options:

C4EZE050029 1

C4e2E050040, 2

425050041 2

425050042 4

Question Number : 37 Question Id : 64635012718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



With respect to computers, which one of the following best deseribes phishing?
{1} A malicious program installed on a svztem that staye concealed to avoid detection

tﬁj A method of b}'passing normal authentication prucedureﬁ. over a connection to a

network
(d) A tvpe of unsolicited bulk email of identical messages sent to numerous recipients

(4) An attempt to acquire sensitive information for malicious reasons, by masquerading
as a trustworthy entity
Options:
E45350500435 1
64535050044 2
64635050045 2
&4535050046. 4

Question Number : 37 Question Id : 64635012718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fro & wed |, Featatas 5 @ i9-w feHm (phishing) 1 wEiias dw =9 § sanEaara & 27

() == fores = omntm o glen o w1 v o E® a=e % fom e v w2
(2) fodh Sk & e S5 W oraen e W W aries w5 A
(3) = IR % TS T wee we (BEE) W T W w1 e av e

(4) o Fvawa zaltE & =9 H SUEY T gHiG B HEEATTE SHET T S w1
Options:
64535050043 1
64535050044, 2
64535050045, =
G4AE35050046. 4

Question Number : 38 Question Id : 64635012719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is an example of proprietary system software?

(1) Linux (2} Mierosoft Internet explover
()] Microsoft office (4 Microsoft windows
Options:

E4E35050047. 1
E4E35050048. 2
E4535050045, 3
G4535050050. 4

Question Number : 38 Question Id : 64635012719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frafafian & § Fi3-m W fows Siwam w1 e

(1) e (2) =TSR T W
(3)  wrERmEiE WEE (4) = e
Options:

64535050047, 1
64535050045, 2
64535050049, 3
E4E35050050. 4

Question Number : 39 Question Id : 64635012720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Jatin’z laptop has a LCD sereen. The acronym LCD stands for :
(1) Light Crystal Display

(2) Liquid Compact Display

(3 Light Compact Display

(4) Liguid Crystal Display

Options:

64535050051, 1
64535050052, 2
64535050053 2
E4E35050054. 4

Question Number : 39 Question Id : 64635012720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
= % whedte § U T H % S 31 LCD Fratatan o | feee diamen 27

(1) vz fFemm f=@t (Light Crystal Display)

(2 ffre =iedge 529 (Liguid Compact Display)
{3) = w9z 7= (Light Compact Display)
(4) fafre frmzw feot (Liguid Crvetal Display)

Options:

64535050051, 1
64535050052, 2
64535050053
64535050054, 4

Question Number : 40 Question Id : 64635012721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A computer network which is used within a building is called a

(1) WAN
(2) MAN
{3  LAN
i4) SAN
Options:

64535050055, 1
E4E35050056. 2
EAE35050057. 3
E4E35050058. 4

Question Number : 40 Question Id : 64635012721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forelt wam & o T SETen SRR Ao 27

(1) WAN
2) MAN
(3) LAN
4) SAN
Options:

64535050055, 1
64535050056, 2
64535050057, 3
E4E35050058. 4

Question Number : 41 Question Id : 64635012722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following dizasters belongs to the category of nuclear disasters?
(a) Fukushima dizaster

(b} Chernobv] disaster

() Three mile Island incident

{d) The love canal disaster

Choose vour answer from the options given below:

(13 (&), (b) and (e)

(2 (a), (B) and (d)

(3] (a), (c) and (d)

(4) (b), (e) and (d)

Options:
64535050059, 1



EAE35050060. 2
E4E35050081. 3
BAE3505006%. 4

Question Number : 41 Question Id : 64635012722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frafafes & 8 33 = s ity s 0 a0l = st 27
(8) FEEE A
(b) =T ATy
() ot mrgw wedE W
() T2 v e feamm
fret fam o Fedl 5 9 9 3 1 =99 ey

Tz
() (a), (b) 3 (e
2 (a), (b) ()
3 (a), () #(d)

4 (b}, (c) = {d)

Options:

64535050059, 1
64535050060, 2
64535050081, =
E4E350500682. 4

Question Number : 42 Question Id : 64635012723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Statement I -  Most of the member countries in the International solar Alliance are
located between the tropic of cancer and tropic of Capricorn

Statement [I — Japan is a member country of the International solar alliance,

Which of the above statement isfare correct?

(1) I only {2y IIonly
(3 EothI and II (4) Neither I nor II
Options:

B45350500683. 1
64535050064, 2
64535050085, 3
EAEZ505006E, 4

Question Number : 42 Question Id : 64635012723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535050063, 1
64535050064, 2
E4E350500E5, 3
EAEZS05006E. 4

Question Number : 43 Question Id : 64635012724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the following statements in the context of Millennium Development Goals (MDGs)
adopted by the United Nations

{a) [Eradicate extreme poverty and hunger
)  Impreve maternal health

i} Responsible consumption and produetion
id) Reduce child mortality

Choose the correct answer from the options given below

(I) (&), (b)and () (2) (b)), (e} and (d)
(3  (a), (b)and (d) (4) (a), (c) and (d)
Options:

B4E350500687. 1
64535050068, 2
64535050089, 3
EAEZ5050070. 4

Question Number : 43 Question Id : 64635012724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HF TE G A T TEere P med (MDG) % = & Pttt we w e fif?
{a) =% fefm ot el = =g
(b) T TEEE H R
(€) SotEmamET S #Hit semeA
(d) =TE FE-TF FFA
dret Tom o fereal & © W 99 w1 W iy

T
(1 (a), (b) ¥ () (2 (), () #(d)
3 (), (b) 3 () (4 (a), (c) 3 ()

Options:

B4E350500687. 1
645350500688, 2
64535050089, 3
EAEZ5050070. 4

Question Number : 44 Question Id : 64635012725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Assertion (A) - Night time temperatures in the central parts of a city are generally higher

than those over the surrounding rural areas

Beason (B)- Radiation losses over the urban areas are less than that over the rural

areas

Choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (4)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(:3) (A) is true but (R) is false

(4) (A) iz falze but (R) iz true

Options:

64535050071, 1
4835050072 2
4535050072 2
4535050074, 4

Question Number : 44 Question Id : 64635012725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535050071, 1
64G35050072. 2
G4E35050073. 2
64535050074, 4

Question Number : 45 Question Id : 64635012726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Pariz Agreement aims to limit the temperature rise in thiz centurv by how many

degrees Celsius above the pre-industrial levels?

(1) 1°C & PC
3 05°C 4 3°C
Options:

E4EZ5050075. 1
EAE3505007E. 2
BAEZ5050077. 3
64535050075, 4

Question Number : 45 Question Id : 64635012726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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FET
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(3 0.5°C 4 3°C
Options:

64535050075, 1
64535050076, 2
E4535050077. 3
EAEZ5050075. 4

Question Number : 46 Question Id : 64635012727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following coordinates, promotes and funds research activities of all =oeial
sciences disciplines?

(1) ICPR, New Delhi

(2) ITAS, Shimla

1] ICS5R, New Delhi

(d) NUEPA, New Delhi

Options:

64535050079, 1
64535050080, 2
64535050081, =
4835050082, 4

Question Number : 46 Question Id : 64635012727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Pt & 2 s gwn oo fama 6 oot srened <6t s wiafata =0 o = 2, 391 mmmE

1 2 st T fEm = R
(1) ICPR, # f&di
(2)  IIAS, fimen

(3) ICSSR, 7¢ figt
{4 NUEPA, = &
Options:
L4E2E0500749 1
CAEZEQE0080, 2

E4E35050081. 3
EAE3IS050052. 4

Question Number : 47 Question Id : 64635012728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"Gvanvami” launched by IGNOU to cover the educational needs of India refers to
(1) Satellite based edueational T V. channel

(2) Educational F.M. Radic network

{3) Global imitative of academic networks
{4 MOOCs
Options:

B4535050083. 1
64535050054, 2
64535050085, 3
EAE35050056. 4

Question Number : 47 Question Id : 64635012728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535050053, 1
64535050054, 2
64535050085, 2
G4AE3E050026. 4

Question Number : 48 Question Id : 64635012729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A special focus on the problems of examination svstem of India formed a part of which one of
the following reports?
(1) Report of the Caleutta university commission
(2 Report of the University Education commission (1964-66)
] Hartog committee report
i4) Report on standards of University edueation UGC (1965)
Options:
E4E25050057. 1
E4535050088. 2

64535050085, 3
64535050030, 4

Question Number : 48 Question Id : 64635012729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) wewn vt s 6 fofd
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Options:

435050057, 1
4535050088, 2
64535050089, o
64535050090, 4

Question Number : 49 Question Id : 64635012730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following universities is not among the first three that were established

during 18577

(1) Caleutta

(2) Bombay

(3 Delhi

() Madras
Options:

E4E35050091. 1
B45350500382. 2
64535050033, 3
64535050034, 4

Question Number : 49 Question Id : 64635012730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535050091, 1
645350500382, 2
64535050033, 3
E4E350500354, 4

Question Number : 50 Question Id : 64635012731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following Ancient Indian universities, the culture and civilization of Tibet
was bult mainly through the writings of the scholars?

{(l) Nalanda
2 Vikramsila
{3y  Jagaddala
{4y  Mithila
Options:
E4535050035. 1
E4EZ505008E, 2

EAE35050037. 3
E4E35050038. 4

Question Number : 50 Question Id : 64635012731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
f=fafem 5 5 fem w=i T favataares & oem: fagal $ oem % 9iom | frem ) w57 o
=M #1 A g @ ?

(1 T

(2)  femsfaren

(3 A

CIR ]
Options:

64535050035, 1
64535050036, 2
E4E35050037. 3
E4E35050038. 4

PART II Pswchology
Section Id : 646350322



Section Number : 2

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350600
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635012732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A competent and a well-performing female middle-level manager did not consider

herself suitable for the position of senior manager thinking that females are not suitable
for such high positions. This is a tvpical example of which of the following?

—

glass-ceiling phenomenon
2. low motivation to approach success
3.  gender discrimination

4, high motivation to avoid failure

Options:

64535050099, 1
64535050100, 2
64535050101, =
64835050102, 4

Question Number : 51 Question Id : 64635012732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64825050099, 1
4535050100, 2
64535050101, 5
64535050102, 4

Question Number : 52 Question Id : 64635012733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Mr. 4 approached the therapist for anger management. After Mr. .{ namrated an incident
in which he experienced anger, which of the following is the most appropriate way of
further questioning at initial level?

1. Could vou please tell me why did you get angry?

b2

Could veou please explain what made you angry?
3. Please help me understand whom did vou get angry at.

4.  Please explain how did vou feel when vou were angry.
Options:
E4535050103. 1
64535050104, 2
64835050105 2
64535050106, 4

Question Number : 52 Question Id : 64635012733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535050103, 1
E4E35050104. 2
&4535050105. 5
64535050106, 4

Question Number : 53 Question Id : 64635012734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Jung, what is made up of all the archetvpes taken together?
1 Personal uncenscious

2. Collective unconscious

3.  Mandala
4.  Shadow
Options:

E4E35050107. 1
E4535050108. 2
64535050105, 3
64535050110, 4

Question Number : 53 Question Id : 64635012734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35050107. 1
E4E35050108. 2
64535050105, 3
64535050110, 4

Question Number : 54 Question Id : 64635012735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In Carell’s theory, Dwvnamie Lattice shows the relationship ameng which of the
following?

1.  Ergs, sentiments and ability traies
2. Ergs, attitudes and temperamental traits
3.  Sentiments and ergs
4. Ergs, sentiments and attitudes
Options:
E4525050111.1
E4525050112 2

64535050113, 3
64535050114, 4

Question Number : 54 Question Id : 64635012735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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Options:

E4535050111.1
64535050112 2
64535050113, 3
64535050114, 4

Question Number : 55 Question Id : 64635012736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Adler, which of the following 15 used by the neurotic to escape from the
problems?

1.  Depreciation

2. Self-accusation

3. Distancing

4.  Safeguarding strategies

Options:

64535050115, 1
64535050116, 2
64835050117, 2
64535050115, 4

Question Number : 55 Question Id : 64635012736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350501151
64535050116, 2
64535050117, 3
E4E35050115. 4

Question Number : 56 Question Id : 64635012737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Positive emotions are expressed as a result of activation of which of the following?
1.  Fromtal areas of right hemisphere
2. Pre-frontal areas of right hemisphers
3. Frontal areas of left hemisphere
4. Pre-frontal areas of left hemisphere
Options:
E4535050113. 1
645350501200 2

E4E35050121. 3
EAE35050122. 4

Question Number : 56 Question Id : 64635012737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535050119, 1
64535050120 2
64835050121, 2
4535050122, 4

Question Number : 57 Question Id : 64635012738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Jung identified eight personality types on the basis of which of the following?
1. Twe attitudes and four functions
2. Four artitudes and two functions
3. Four artitudes and four functions

4.  Two attitudes and six functions

Options:

64635050123, 1
64535050124, 2
64535050125 =
64835050126, 4

Question Number : 57 Question Id : 64635012738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4535050123 1
64535050124, 2
64535050125, 5
64535050126, 4

Question Number : 58 Question Id : 64635012739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following is a step in transformative change where unpredictable and
often affective experience ocours?

1. Integration

-
Fep

Preparation
3. Inspiration

4. Organic inguirv

Options:
6435050127, 1

E4E3505012E8. 2
E4E35050129. 3
E4535050130. 4

Question Number : 58 Question Id : 64635012739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35050127. 1
64535050128, 2
64535050129, 3
64535050130, 4

Question Number : 59 Question Id : 64635012740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When acetvicholine links up on the postsynaptic side, it generates a depolanzation.
Whar do you eall it?

1.  Inhibitory postsyvnaptic potential
2. Excitatory postsynaptie potential
3.  End-plate potential
4. End-plate potential and inhibitory postsymaptic potential
Options:
64635050131 1
64535050132 2
64535050122 5
E4525050134 4

Question Number : 59 Question Id : 64635012740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535050131, 1
64535050132, 2
64535050133 2
E4E35050124. 4

Question Number : 60 Question Id : 64635012741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

An observer watches the video in which the speaker’s lips form the sound “ga-ga’ while
the sound trace provides speech that is normally perceived as ‘ba-ba’. The conjunction
of these conflicting sources produces the perception of “da-da’ which integrates these
information and results in which illusicn?

1.  Cross-model illusion
2. Size illusion
3. Miiller-Lver illusion
4. Visual illusion
Options:
E4E8250501325. 1
E4E25050136. 2
E4535050137. 2
64535050138 4

Question Number : 60 Question Id : 64635012741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4535050135. 1
64535050136, 2
64535050137, 3
64535050138, 4

Question Number : 61 Question Id : 64635012742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A 30-vear-old man identified as Mr. K. C. suffered a serious motorcvele accident.
Mr. K. C. remembers many things but cannot evervthing. Mr. K. C. seems to have
which memorv loss?

1. Semantic
2. Episodic
3.  Procedural

4. Working memory

Options:

4635050129, 1
64535050140, 2
64535050141, =
64535050142 4

Question Number : 61 Question Id : 64635012742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350501359, 1
64535050140, 2
64535050141, 3
E4E35050142. 4

Question Number : 62 Question Id : 64635012743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Projective measures, particulardy inkblot tests, index which of the following?
1. Novelty context of creativity
2. Meaning context of creativity
3. Domain-specific creativity
4, Evervday creativity

Options:
E452505014=. 1

E4E35050144. 2
E4535050145. 3
64535050146, 4

Question Number : 62 Question Id : 64635012743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535050142 1
E4E35050144. 2
E4E35050145. 3
64535050146, 4

Question Number : 63 Question Id : 64635012744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Hald a pencil at arm’s length and look at it first with one eve then with the other, There
is a little difference between the two views relative to the background. Now bnng the
pencil just six inches awav from vour face and trv the same thing. This time vou will
perceive a great difference between the two views, Which one is the correct answer of

above example?
1. Moenocular cue
2.  Binoecular ene
3.  Teop-down processing
4.  Bottom-up processing
Options:
E4535050147. 1
645350501458, 2

64535050149, 3
64535050150, 4

Question Number : 63 Question Id : 64635012744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
C4E25050147. 1
CAEZENED148. 2

64535050149, 3
E4E35050150. 4

Question Number : 64 Question Id : 64635012745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The major function of parathyroid is to maintain the level of
1. ealeium in blaad
1. proteins in blood
3.  witamin Din blood

4.  gluco-corticoids in blood
Options:
E4525050151. 1
E4535050152. 2
64535050153 =
64635050154 4

Question Number : 64 Question Id : 64635012745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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3. wAHfwEED
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Options:

E4E535050151. 1
E4535050152. 2
E4535050153. 3
64535050154, 4

Question Number : 65 Question Id : 64635012746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following is NOT a characteristic of attention?

1. processing capacitv and selectiveness

2. automatic processing

3. imitial detection of stimuli
4. control
Options:
E4EZE050155 1
CE4E35050158. 2

64535050157, 3
64535050158, 4

Question Number : 65 Question Id : 64635012746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635050155, 1
64835050156, 2
4535050157, 5
64535050158, 4

Question Number : 66 Question Id : 64635012747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is true about radicimmunoclogical assavs?
1. These are methods to measure hormones
2. These methods were discovered by Jay Tepperman
3. These are anatomical methods

4. These measure brain structures

Options:

64535050159, 1
64535050160, 2
64535050161, 2
E4E35050162. 4

Question Number : 66 Question Id : 64635012747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535050159, 1
64535050160, 2
64535050161, =
E4E35050162. 4

Question Number : 67 Question Id : 64635012748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Skdlls that are operated automaticallv amd without thinking are stored im which
memory?

1. Implicit memory

2 Explicit memory

3. Flashbulb memory

4.  Autobiographical memory

Options:

64535050163, 1
64535050164, 2
E4E35050165. 2
64535050166, 4

Question Number : 67 Question Id : 64635012748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35050163. 1
E4535050164. 2
64535050165, 3
64535050166, 4

Question Number : 68 Question Id : 64635012749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Torrance used the term ‘creatively handicapped” for whom?
1.  5Students verv high in creativity but low in academic achievement
2. Studentshigh in intelligence but low in creativity
3. Studentsaverage in both intelligence and creativity

4.  Students with low levels of both intelligence and creativity

Options:

4635050167, 1
64535050168, 2
64535050169, =
64535050170, 4

Question Number : 68 Question Id : 64635012749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635050167, 1
64535050168, 2
64535050169, =
64535050170, 4

Question Number : 69 Question Id : 64635012750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The interaction of sensory impulses indicates the complexity of stimulation and
therefore the difficulties in predicting behaviour. Behaviour is seldom a function of
only one stimulus rather it is a function of manv stimuli.

The above explanation is based on which leaming theory?
1. Guthrie's theory
2. Pavlov’s theory
3.  Hull's theary
4. Teolman's theory

Options:
45250501711

E4E35050172. 2
E4E35050173. 3
B4535050174. 4

Question Number : 69 Question Id : 64635012750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35050171. 1
E4E35050172. 2
64535050173, 3
64535050174, 4



Question Number : 70 Question Id : 64635012751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Psvchometric tests of creativity like Tomance Tests of Creative Thinking Index
measure creativity in terms of

1. person

2. produet

3. process

4.  persuasion
Options:
E4635050175. 1
64635050176, 2

64535050177, 3
64535050178, 4

Question Number : 70 Question Id : 64635012751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
64535050175, 1
64535050176, 2
64535050177, 3
64535050178, 4

Question Number : 71 Question Id : 64635012752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which attention is shifted without moving the eves, commonly referred to as seeing
something out of the comer of one's eve?

1. Covert attention
2. Owert attention
3. Divided attention

4.  Span of attention

Options:

64535050179, 1
648350501280 2
E4E350501281. 2
64535050182, 4

Question Number : 71 Question Id : 64635012752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6453505017591
64535050180, 2
64535050181, 3
E4E35050182. 4

Question Number : 72 Question Id : 64635012753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 12-vear-old bov started showing a gradual onset of jerky, uncontrolled movements in
limbs with clumsiness, frequent falling, slurred speech and drocling caused by HTT
mutation, What disorder is he suffering from?

1.  Ataxia

2. Huntington's

3. Dwstonia

4.  Essential tremors
Options:
C4E2E050152 1
cdeZE050184. 2

E4E35050185. 3
EAE35050186. 4

Question Number : 72 Question Id : 64635012753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535050182, 1
E4E35050184. 2
E4E35050185. 3
E4535050186. 4

Question Number : 73 Question Id : 64635012754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

While conducting an :'xpntn'mcm, the researcher ma.nipula‘l:ti the i.ndcp:ndcnt variable
within a pre-decided range. Which of the following describes this tvpe of research?

1. Quasi-experiment
2. Random-effect model
3.  Fixed-effect model

4. Mixed-method approach

Options:
E4E2E050187. 1

E4E35050188. 2
E4535050189. 3
64535050130, 4

Question Number : 73 Question Id : 64635012754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
4235050157, 1

E4E35050188. 2
E4535050189. 3
64535050130, 4

Question Number : 74 Question Id : 64635012755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Limbic svstem, basal ganglia and corpus striatum are parts of which section of brain?
1.  Midbrain
2.  Hindbrain
3. Telencephalon

4.  Diencephalon

Options:

64835050191, 1
4535050192, 2
64535050192,
64535050194, 4

Question Number : 74 Question Id : 64635012755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4535050191. 1
B45350501392. 2
645350501383, 3
64535050134, 4

Question Number : 75 Question Id : 64635012756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who gave the statement that the nature and frequency of human aggressive behaviour
varies tremendously across human societies and likelv to occur in some than others?

1. Borowitz
2. Freud
3 Deollard and Miller

4.  Lorenz

Options:

64535050195, 1
64535050196, 2
64835050197, 2
4535050198, 4

Question Number : 75 Question Id : 64635012756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350501595, 1
64535050136, 2
64535050137, 3
E4E3505013958. 4

Question Number : 76 Question Id : 64635012757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



On a Wechsler type Adult Intelligence Scale, having normally distributed scores, the
subject had a percentile rank of 84. His deviation IQ would be

1. 84
2. &
3 115
4, 120
Options:

64535050195, 1
64535050200, 2
64535050201, 3
EAEZ5050202. 4

Question Number : 76 Question Id : 64635012757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR WER F 90 gid T @, fre ® W ofF e w9 4 fafe § w o fa
#I THe Sife 84 & & ST Raes ong. 5, @

1. 84
2. B85
F- IS
4, 120
Options:

E4535050199. 1
64535050200, 2
64535050201, 3
64535050202, 4

Question Number : 77 Question Id : 64635012758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following endeavours to revalue the unique qualities associated with
womanhood and feminity?

1 Cultural feminism

2. Liberal feminism

3 Padical feminism

4. Socialistic feminism

Options:

64835050203, 1
E4E35050204. 2
E4535050205. 5
64535050206, 4

Question Number : 77 Question Id : 64635012758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35050203. 1
E4E35050204. 2
64535050205, 3
64535050206, 4

Question Number : 78 Question Id : 64635012759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

First make a small request, when the person complies, make another large request. This
concept is based on which compliance technique?

1. Foot-in-the-door
2 Door-in-the-face
3 Lowball

4. That’s not all

Options:
E4AEZ2E050207. 1

E4E35050208. 2
E4E35050209. 3
B4535050210. 4

Question Number : 78 Question Id : 64635012759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535050207, 1
64E25050208. 2
64535050209, 3
64535050210, 4

Question Number : 79 Question Id : 64635012760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Mrs. B has attained the level of ‘self” in that she now takes genuine pleasure in praver,
meditation and other spiritual activities. Which type of “self” is this in Sufism?

1.  Serene self
2. Inspired self
3.  Pleased self
4.  Pure self
Options:
64635050211, 1
64535050212 2

E4E35050213. 3
EAE35050214. 4

Question Number : 79 Question Id : 64635012760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35050211. 1
E4E35050212. 2
64535050213, 3
64535050214, 4

Question Number : 80 Question Id : 64635012761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

When people are pressurised to admit guilt, but privately continue to belisve in their
OWn innocence.

Choose the comrect answer of above statement.
1. Voluntary false confession
2. Coerced-compliant false confession
3. Coerced-internalized false confession
4, Character evidences

Options:

64535050215, 1
64535050216, 2
64535050217, =
64535050218, 4

Question Number : 80 Question Id : 64635012761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535050215, 1

64535050216, 2

64535050217, 2

6435050218, 4

Question Number : 81 Question Id : 64635012762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is theoretical approach called which attempts to explain completely the
phenomenon of one field of study in terms of the dynamics of a more basic field?

1. Interactionism
2. Beductionism
3. Pragmatism

4, Comfliant solution

Options:

64535050219, 1
64535050220, 2
64835050221, 2
64535050222, 4

Question Number : 81 Question Id : 64635012762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535050215, 1
64535050220, 2
64535050221, 3
EABE35050222. 4



Question Number : 82 Question Id : 64635012763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The cognitive approach of prejudice anses from which theory that an individual's self-
coneept derives partly from membership in an ‘in-group’?

1.  Realistic group conflict theory
2. Secapegoat theory

3. Frustration aggression theory
4.  Social identitv theorv

Options:

4535050223, 1
64535050224, 2
64535050225, 2
64535050226, 4

Question Number : 82 Question Id : 64635012763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535050223, 1
64535050224, 2
64835050225 2
4535050226, 4

Question Number : 83 Question Id : 64635012764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following explains the theory's ability to organize and explain several
otherwise disjointed observations?

1. Heuristic function
2. Synthesizing function
3.  Principle of verification
4. Scientific function
Options:
64635050227, 1
64635050228, 2

B4535050225. 3
64535050220, 4



Question Number : 83 Question Id : 64635012764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

EAE35050227. 1
BAE35050228. 2
64535050229, 3
64535050230, 4

Question Number : 84 Question Id : 64635012765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Choose the correct answer for leadership stvle, low task, low relationship style

1. Participating stvle
2. Selling style
3. Delegating style
4. Telling styie

Options:

E4E35050221. 1

EAE35050232. 2

B4E535050233. 3
64535050234, 4

Question Number : 84 Question Id : 64635012765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535050231, 1
EAEZ5050232. 2
E4E35050233. 3
E4E535050234. 4

Question Number : 85 Question Id : 64635012766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which of the fellowing is degenerative disease accompanied by Amnesia caused by

frontotemporal lobular degeneration and depression?”

1.  Alzheimer's disease
2. Parkinson's disease
3. Pick’s disease
4  Huntigton's disease
Options:
C4EZE050225 1
CACZEOE0Z2ZEE. 2

EAE35050237. 3
EAE35050238. 4

Question Number : 85 Question Id : 64635012766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535050235, 1
64535050236, 2
64535050237, 3
EAEZ505023E. 4

Question Number : 86 Question Id : 64635012767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The wicious circles that maintain depression, loneliness and shvness can be broken by
social skill waining by positive experience that after self-perception by changing
negative thought pattems. This is the description of which social-psychological
approach to treatment?

1. Soacal skill training
2. Explanatory style therapy
3.  Intemal attnbution

4, Social influence

Options:

4535050239, 1
64535050240, 2
64535050241, =
64535050242 4

Question Number : 86 Question Id : 64635012767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535050235, 1
64535050240, 2
64535050241, 3
E453505024Z. 4

Question Number : 87 Question Id : 64635012768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT true?

1. Arthe time of birth, the brain is not fullv lateralised rather it is plastic

2. Though the left hemisphere is broadly associated with language
development, vet if it is injured during first few vears, other regions take
over language functions to attain the normal language competence

3. Damage to the left fromtal lobe areas wusually wields language
comprehension problems

4. Broca's area supports grammatical processing and language production

Options:

64535050243, 1
64835050244, 2
E4E35050245 =2
64535050246, 4

Question Number : 87 Question Id : 64635012768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E35050242. 1

E4E35050244, 2
E4E35050245. 3
BAE3505024E. 4



Question Number : 88 Question Id : 64635012769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The inferential technigue that 4 borrewed his father's car during a college vacation and
smashed it after the party 4 attended. Expected reaction of his father runs through 4's
mind and generates several possibilities. It is the example of which heuristic?

1. Awailability heunstic

2. Representativeness heunstic

3.  Conjunction emor

4. Stimulation heuristic
Options:
646535050247, 1
646535050248, 2

64535050249, 3
E4EZ5050250. 4

Question Number : 88 Question Id : 64635012769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535050247, 1
E4E350502458. 2
E4E35050243. 3
E4535050250. 4

Question Number : 89 Question Id : 64635012770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who has proposed a three componential theory of wisdom explaining cognitive,
affective and reflective wisdom?

1. Stemberg

2. Baltes

3. Chandler

4. Ardel
Options:

E4E35050251. 1
E4E35050252. 2
64535050253, 3
64535050254, 4



Question Number : 89 Question Id : 64635012770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535050251, 1
64535050252, 2
E4E35050253. 3
EAE35050254. 4

Question Number : 90 Question Id : 64635012771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The gquotation, “People believe good things should happen to good people and bad
things to bad people”, represents

1.  Blank-out hypothesis
2. Just world hypothesis
3. Kama-hvpothesis

4. Retribution hvpothesis

Options:

64535050255, 1
64535050256, 2
64835050257, 2
4535050258, 4

Question Number : 90 Question Id : 64635012771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535050255, 1
E4E35050256. 2
4535050257, 2
64535050258, 4



Question Number : 91 Question Id : 64635012772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Repeated presentation of negative events in mass-media mayv lead to increase in the
ocewrrence of such negative events because of

1.  wither effect
2. contagion effect
3. frequency effect

4. Crespi effect

Options:

4835050259, 1
E4E350502E80. 2
64535050261, 5
4535050262, 4

Question Number : 91 Question Id : 64635012772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535050255, 1
64535050260, 2
64535050261, 3
EABE3S050262. 4

Question Number : 92 Question Id : 64635012773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the term given to ‘antonomy or being self-determining, independent and able to
resist social pressures to think and aet in certain ways'?

1.  Emotional well-being

b

Social well-being
3.  Psvchological well-being
4.  Physical well-being
Options:
E4E2E0502683. 1
4535050264, 2

E4E35050265. 3
EAE35050266. 4



Question Number : 92 Question Id : 64635012773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35050263. 1
EAE35050264. 2
B4535050265. 3
64535050266, 4

Question Number : 93 Question Id : 64635012774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Whe proved this observation that cvelists seemed to ride faster when they raced against
other cvclist than when they raced alone?

1. Zajone
2. Allport
3.  Baron

4. Nomman Triplett
Options:
64635050267 1
64535050268, 2
E4E250502859. 3
EAEZ5050270. 4

Question Number : 93 Question Id : 64635012774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. weE

2. Sfiedie

3. &=

4. Afvaa Ruee
Options:

64535050267, 1
64535050268, 2
64535050269, 3
EAE35050270. 4



Question Number : 94 Question Id : 64635012775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is the comect answer of the experiment conducted in
University of California at Santa Barbara; individuals running on jogging path speed up
as they came upon a woman seated on the grass facing them rather than sitting with her
back mumed?

1.  Distraction conflict
2. Presence of co-actor
3.  Ewvaluation apprehension

4. Freenders

Options:

64835050271, 1
E4E35050272. 2
64535050272, 5
64535050274, 4

Question Number : 94 Question Id : 64635012775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3. Teuie-HEEy
4 TRYTE
Options:

645350502711
64535050272, 2
64535050273, 3
EAE35050274. 4

Question Number : 95 Question Id : 64635012776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is comrect explanation of "outgroup homogeneity effect’?

1. Members of an in-group assume that other in-group members show their
attitudes and wvalues

2. Perception that members of outgroup are more similar to each other than
members of in-group are to each other

The tendency to give more favourable evaluation and greater rewards to
members of out-group

LrE)

4.  People are arbitranly classified into group than allowed to allocate reward
to each other

Options:
64535050275, 1
64535050276, 2



EAE35050277. 3
B4E35050278. 4

Question Number : 95 Question Id : 64635012776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535050275, 1
64535050276, 2
EAEZ5050277. 3
E4E35050278. 4

Question Number : 96 Question Id : 64635012777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Multiple sclerosis is
(a) demvelinating disorder
(b)  an autoimmune disease
(¢) always accompanied by amnesia and cognitive disorder
(d) lmown tolead va jerky movements
Select the correct option :
1. (a) and (b) onlv
2. (a), (b) and () only
3. (a), (b) and (d) only
4. (a) and (d) only

Options:
4235050279, 1

EAE35050280. 2
E4E35050281. 3
BAE53505028%. 4

Question Number : 96 Question Id : 64635012777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
EAEZE050279. 1

EAE35050280. 2
E4E35050281. 3
BAE35050282. 4

Question Number : 97 Question Id : 64635012778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Consideration of mental health needs of persons with cancer will have positive effects
on

(a) quality of life
(b) emotional well-being
(c) positive biological changes
(d) killing carcinogenic cells
Select the correct option :
1. ({a)and(b) only
2. (c) and (d) only
3. (a), (b) and (c) only
4 (b). (c)and (d) only
Options:
E4E35050283. 1
E4E35050284. 2

E4535050285. 3
64535050286, 4

Question Number : 97 Question Id : 64635012778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. &aa(a) T (b)
2. FEU(c) AR (d)

3. FEE@E), O)HR (0
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Options:
E4E2E050283. 1

EAE35050284. 2
E4E35050285. 3
BAE35050286. 4

Question Number : 98 Question Id : 64635012779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following are steps of problem-solving cycle?
(a) Problem identification
(b) Problem definition
(c) Organization
(d) Allocation of resources

Select the cormrect option :

1. (a)and (b) only

)

(e) and (d) enlv

(b), (c) and (d) onlv

Lry

4. (@) (b), (c) and (d)

Options:
E4E35050257. 1

EAEZ5050288. 2
E4E35050289. 3
B4535050230. 4

Question Number : 98 Question Id : 64635012779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535050287, 1
64535050288, 2
64535050289, 2
E4E35050290. 4

Question Number : 99 Question Id : 64635012780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are charactenistics of post—trauma growth?
(a) Relationships are strengthened or enhanced
b}  Self-iews become more positive
{¢) Life philesophies become ambiguous
(d) Greater acceptance of personal limitations
Select the comect option :
1. (a), (b) and (c) only
2. (a), (b) and (d) only
3. (b), (c)and (d) only
4.  (a), (c) and (d) onlv

Options:

64835050291, 1
64535050292, 2
64535050292, 5
64535050294, 4

Question Number : 99 Question Id : 64635012780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
CAEZEQE0Z291. 1
E4535050292. 2

E4E350502393. 3
E4E350502394. 4

Question Number : 100 Question Id : 64635012781 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Marked impairments in establishing social interactions and living in their own worlds,
repetitive behaviour patterms and non-existent or poor language skalls are three major
characteristics of which disorder’s?
(a) Autism
() Obsessive-compulsive disorder
(c) Catatonic scehizophrenia
(d) Apraxia
Select the comrect option :
1. Only(a)
2. Ounly (b) and (c)
3. Onlv(d)

4. Only () and (d)

Options:

64535050295, 1
64535050296, 2
64535050297, 2
64835050298 4

Question Number : 100 Question Id : 64635012781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B45350502585. 1
64535050236, 2
64535050237, 3
EAE350502395. 4

Question Number : 101 Question Id : 64635012782 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following theorists used the idiographic approach to personality?
(a) Allport
) Kelley
() Cattell
(d) Ewvsenck
Select the comrect option :
1.  Only (a) and (b)
2. Only (a) and (e)
3. Only (¢) and (d)

4. Only (a), (c) and (d)

Options:

4350502499, 1
64535050200, 2
64535050201, 5
64535050202, 4

Question Number : 101 Question Id : 64635012782 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535050299, 1
64535050200, 2
64835050201, 2
4535050202, 4

Question Number : 102 Question Id : 64635012783 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following are the assumptions on which Binet developed his first test
of intelligence?

(a) Mental competence increases over the childhood years.

(b) Child’s relative standing in mental development compared to his age group
will remain constant as the child grows.

() Child’s ralative standing in mental development compared to his age group
increases as the child grows.

{d) Mental competence decreases over the childhood years.
Select the correct option :
1. (a) and (b} onlv
2. (a)and(c) cnly
3. (b)and (c) only
4. (b) and (d) only
Options:
64535050303, 1
64535050304, 2

64535050305, 3
E4E35050206. 4

Question Number : 102 Question Id : 64635012783 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. FaE(b) IR (d)
Options:

64535050302, 1
E4E35050204. 2
E4535050205. 3
E4535050206. 4

Question Number : 103 Question 1d : 64635012784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following is/are true about thodopsin?
(a) Itisarod pigment that enables vision in low light.
(b) Itisa cone pigment that enables vision in bright light.
(c) Irisa G-protein coupled receptor.
(d) Itisa cone pigment and G-protein coupled receptor.
Select the correct option :
1. (a) only
2. (a), () and (d) only

(b) only

L

4. (a) and (c) only

Options:

64535050207, 1
64535050208, 2
64835050209 2
45350502104

Question Number : 103 Question Id : 64635012784 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535050207, 1
64535050308, 2
64535050309, 3
EAE35050210. 4

Question Number : 104 Question Id : 64635012785 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Tomrance Test of Creative Thinking (figural), picture construction activity is scored
for which of the following?

(a) Floency
(b) Flexibility
(c) Originality
(d) Elaboration
Select the comect option :
1. Only (2) and (b)
2. Only (c) and (d)

Only (b), () and ()

o

4. (a), (b, (c) and (d)

Options:
4235050311, 1

E4E35050212. 2
E4535050213. 3
64535050214, 4

Question Number : 104 Question 1d : 64635012785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535050211, 1
64535050212, 2
64535050213 2
64835050214, 4

Question Number : 105 Question Id : 64635012786 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fill in the blanks by choosing the right sequence :

In the upside-down and reversed-image projection process on , the bends
the rays entering the eve and the light rays from the top of an object are projected onto
at the bottom of

Select the correct option :

1 receptors, lens, retina, retina

b2

lens, retina, receptors, retina

ek

retina, lens, receptors, retina
4 retina, lens, retina, receptors

Options:

64535050215, 1
64535050216, 2
64835050217 2
4535050218 4

Question Number : 105 Question Id : 64635012786 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535050215, 1
64535050216, 2
64835050217 2
4535050218 4

Question Number : 106 Question Id : 64635012787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are the behaviours identified by Maslow that lead 1o self-
actualization?

(2) Growth choices
(b) Useof Ego defence
{(c) Self-awareness
(d) Concentration
Select the comect option :
1.  (a), (b) and (c) only

2. (a), (c) and (d) only

Lia

(c) and (d) only

4. (a), (b), and (d) onlv

Options:

64535050219, 1
64835050220 2
4535050221, 2
64535050322, 4

Question Number : 106 Question Id : 64635012787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535050219, 1
64535050320 2
64535050321, 2
E4E350503222. 4

Question Number : 107 Question Id : 64635012788 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Femieval is more commonly explained as the basis of which generarion recognition
theorv?

() Information Processing
(b) Iconic Image
{c) Sensory Register
(d) Primary Effect
Select the comrect option :
1. {(a), ®)and (c) only
2. (a) only
3. (b)and(c) only
4. (b), and (d) only
Options:
64535050323 1
64635050324, 2

64535050325, 3
64535050326, 4

Question Number : 107 Question Id : 64635012788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350502323. 1
645350502324, 2
64535050325, 3
64535050326, 4

Question Number : 108 Question Id : 64635012789 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are true for bootstrapping?
(a) It involves large number of sub-samples.
(b) It does not relv on assumptions about population.
(e) Itisapplicable in case of nonmerric data only.
(d) Itisbased on sample data onlv.
Select the comect option :
1. Ounly (a) and (b)
2. Only (a}, (b) and (c)
3. Only (z). (b) and {d)

4. Only (b), (c) and (d}

Options:

64535050327, 1
E4E35050328. 2
4535050229, 5
64535050220 4

Question Number : 108 Question Id : 64635012789 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4250503271
C4ds2E050328. 2

E4EZ50503259. 3
E4E25050230. 4

Question Number : 109 Question Id : 64635012790 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to self-determination theory, which of the following form the bases of
intrinsic motivation?

1. Experience, Competence

2. Competence, Autonomy

3. Competence, Novelty seeking

4. Novelty secking, Sensation secking
Options:
646235050321, 1
646350502332 2

64535050333, 3
64535050324, 4

Question Number : 109 Question Id : 64635012790 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
452505022311

E4E350502332. 2



EAE350502333. 3
E4535050224. 4

Question Number : 110 Question Id : 64635012791 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Mechanistic view of motivation can be characterised by which of the following?
(a) S-0-R
(b) Direction is determined by 5-F. bonds.
(c) Probability of habits depends on prior reinforcement contingencies.
(d) DPersistence of behaviour

Select the correct option :

1. Only (a), (b) and (c)

=]

Only (), (b) and (d)

Lad

Only (b), (c) and (d)

4 (a), (b), (c) and (d)

Options:

64535050235, 1
64535050336, 2
645350502337, 2
648350502328 4

Question Number : 110 Question Id : 64635012791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
64535050335, 1
E4E35050236. 2

E4E350502337. 3



EAE35050238. 4

Question Number : 111 Question Id : 64635012792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Maver-Salovey-Caruse Emotional Intelligence Test (MSCEIT) measures which of the
following?

(a) Perceiving emotions
(b} Using emotions to facilitate thought
{c) Understanding emotions
(d) Self-motivation
Select the correct option :
1. (a) and (b) only
2. (c)and (d) onlv
3. (a), (b) and (c) only
4 (b). (c)and (d) only
Options:
E4535050233. 1
64535050240 2

E4E35050241. 3
EAE350502342. 4

Question Number : 111 Question Id : 64635012792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4535050239. 1
64535050240, 2
64535050341, 3
64535050342, 4



Question Number : 112 Question Id : 64635012793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements one labelled as Assertion (A) and other labelled as
Reason (R), Read the statements.

Asgsertion (A) @ A 3- to d-vear-ald will readily handever a blanket to another
individual who is rubbing hands and shivernng a lot.

Reason (R) : In sensitive face-to-face communication, infants connect emotionally
with their caregivers, this experiences are believed to be foundation
for empathy.

Choose the comrect answer from the options given below :
1. Both(A)and (R) are true and (R) is the correct explanation of (A)
2. Both{A)and (E) are true but (R) is not the comect explanation of (A)

(A) is true but (R) is false

ek

4. (A)is false but (R)is true

Options:

64535050243, 1
64535050244, 2
64835050245 =2
4535050246, 4

Question Number : 112 Question Id : 64635012793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 113 Question Id : 64635012794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements one labelled as Assertion (A) and other labelled as
Reason (R). Read the statements.

Assertion (A) © Method of caleulating IQ in terms of E{i

#1000 as such does not

wark with adults.

Feason (R) : Intelligence does not increase linearly with age past childhood.

Choose the correct answer from the options given below :

1. Both({A)and (B) are true and (R) is the correct explanation of (A)

[

Both (A) and (R) are true but (R) is not the comect explanation of (A)
3. (A)is true but (R) is false

4. (A)is false but (R)is true

Options:

64535050247, 1
64535050248, 2
64835050249 =2
4535050250 4

Question Number : 113 Question Id : 64635012794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535050247, 1
645350503248, 2
4535050249 2
4535050250, 4

Question Number : 114 Question Id : 64635012795 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Given below are two statements one labelled as Assertion (A) and other labelled as
Reason (F). Read the statemenrs.

Assertion (A) : Intelligent teachers select information that is relevant for their
pedagogical purpose.

Beason (R) : Selective combination involves determining which elements in a set
of information are relevant for a given purpose.

Choose the correct answer from the options given below :
1. Both(A)and (R) are true and (R) is the comect explanation of (A)
2. Both({A) and (R are true but (R) is not the correct explanation of {(4)

(A)is true but (R) is false

i

4. (A)is false but (R)is true

Options:
42350503511

E4E35050352. 2
E4E350502353. 3
545350502354, 4

Question Number : 114 Question Id : 64635012795 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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64535050351, 1
64535050352, 2
64535050353 2
E4E35050254 4

Question Number : 115 Question Id : 64635012796 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements one labelled as Assertion (A) and other labelled as
Feeason (B). Read the statements.

Assertion (A) :  Clients must be allowed complete freedom to discuss in their natural
manner to communicate respect and aceeptance.

Feason (R) : Completely suspending the judgement and expressing positive regard
are Rogers’ core therapeutic conditions.

Choose the comect answer from the options given below

1. Both(A) and (R) are true and (R) is the comrect explanation of (A)

bt

Both (A} and (R) are true but (B} is not the correct explanation of (A)
3. (A)is true but (R) is false

4. (A)is false but (R) is true

Options:

64535050355, 1
64535050356, 2
64835050357, 2
E4E35050258. 4

Question Number : 115 Question Id : 64635012796 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535050355, 1
64535050356, 2
64535050357, 2
E4E35050358. 4

Question Number : 116 Question Id : 64635012797 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements one labelled as Assertion (A) and other labelled as
Reason (R). Read the statements.

Assertion (A) @ Mental stress may cause cardiae ischemia

Reason (R) : Stress unfavourably affects the balance between cardiac demand and
supply.

Choose the comect answer from the options given below
1. Both(A)and (R) are true and (R) is the comect explanation of (A)
2.  Both{A)and (E) are true but (R) is not the correct explanation of (A)

(A)is true but (R) is false

ek

4. (A)is false but (B)is true

Options:

64535050359, 1
64535050360, 2
648350503261, 2
4535050262, 4

Question Number : 116 Question Id : 64635012797 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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645350502359, 1
64535050260, 2
64535050361, =
48350503262 4

Question Number : 117 Question 1d : 64635012798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements one labelled as Assertion (A) and other labelled as
Feason (R). Eead the statements.

Assertion (A) © If children watch programmes with viclent and aggressive contents,
they themselves take recourse to violent and aggressive behaviour.

Feason (R) : Children learn aggressive behaviour from media through
observational leaming, where the observed behaviour need not be
positively reinforced.

Choose the corect answer from the options given below :

1. Both({A)and (R) are true and (E) is the correct explanation of (A)

L

Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is tue but (R) is false

4. (A)is false but (R) is true

Options:

64535050363, 1
64535050364, 2
648350503265 2
4535050266, 4

Question Number : 117 Question Id : 64635012798 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535050363, 1
64535050364, 2
64535050365, 2
E4E35050366. 4

Question Number : 118 Question Id : 64635012799 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements one labelled as Assertion (A) and other labelled as
Reason (R). Read the statements.

Asszertion (A) : According to classical theorv of test scores, total variance is equal to
true variance plus error variance,

Reason (R) : Classical theory of test scores assumes significant but low positive
correlation between true scores and emror scores.

Choose the comrect answer from the options given below :
1. Both{A)and (E) are true and (R} is the correct explanation of (4)
2. Both(A)and (R) are tue but (E) is not the correct explanation of (4)
3. (A)is true but (R) is false

4. {A)is false but (R) 15 true

Options:

4835050367, 1
4535050268, 2
645350502369, 2
64535050370, 4

Question Number : 118 Question Id : 64635012799 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4635050267, 1
64535050368, 2
64535050269 =
64535050270, 4

Question Number : 119 Question Id : 64635012800 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements one labelled as Assertion (A) and other labelled as
Feason (R). Fead the statements.

Aszertion (A) - Focus group involves unstructured interview.

Feason (R) : Focus group involves interaction among participants moderated by
the researcher, as a source of data.

Choose the correct answer from the options given below

1. Both({A)and (R) are true and (R) is the correct explanation of (A)

[

Both (A) and (R) are rue but (R) is not the comeet explanation of (A)
3. (A)is true but (R) is false

4. (A)is false but () is true

Options:
E4E2E0502371.1

EAE35050372. 2
E4E350502373. 3
B4E350502374. 4

Question Number : 119 Question 1d : 64635012800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535050371, 1
E4E3S050372. 2
4535050273, 5
64535050374, 4

Question Number : 120 Question Id : 64635012801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements one labelled as Assertion (A) and other labelled as
Reason (R). Fead the statements.

Assertion (A) : Changing client’s perception requires persuasive skills and direction
from the counsellor and such input is known as ‘lead’,

Feason (R) : Counsellor should make minimum verbal responses and maintain
silence so that clients feel some pressure to continue; and will choose
to continue with minimum input from the counsellor; thus counsellor

talang a good lead.

Choose the correct answer from the options given below :
1.  Both(A) and (R) are true and (R) is the correct axplanation of (A)
2.  Both(A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false
4. (A)is false but (B} is true

Options:

64535050375, 1
64535050376, 2
4835050377, 2
4535050278 4

Question Number : 120 Question Id : 64635012801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535050375, 1
64535050376, 2
4835050377, 2
4535050278 4

Question Number : 121 Question Id : 64635012802 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements one labelled as Assertion (A) and other labelled as
Feeason (F). Fead the statements.

Assertion (A) : Tolman's purposive behaviourism was considered to be a major
advancement in the field of Psvchology.

Reason (R) : Pre-Tolman behaviourism excessively emphasized 5-R relations and
ignored cognitive processes.

Choose the comreet answer from the options given below

1.  Both{A)and (R) are true and (R is the correct explanation of (A)

[

Both (A) and (R) are true but (B) is not the correct explanation of (A)

(A)is true but (B) is false

lid

4, (A)is false but (B)is true

Options:

64535050379, 1
645350502380, 2
64535050381, 2
E4E35050282. 4

Question Number : 121 Question Id : 64635012802 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4535050279, 1
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64535050381, =
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Question Number : 122 Question 1d : 64635012803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements one labelled as Assertion (A) and other labelled as
Feeason (B). Fead the statements.

Assertion (A) : Aeccording to Freud, painful memories are the target of Repression.

Feason (R) : FEepression can be primal i.e. innately part of the Id or Proper i.e.
unacceptable derivates of original Id impulses.

Choose the correet answer from the aptions given belaw

1.  Both(A) and (R) are true and (R) is the correct explanation of (A)

[

Both (A) and (R) are true but () 1s not the comrect explanation of (A)
3. (A)is true but (R) is false
4. (A)is false but (B) is true

Options:

64535050383, 1
64535050384, 2
64835050285 2
4535050286, 4

Question Number : 122 Question Id : 64635012803 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 123 Question Id : 64635012804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements one labelled as Assertion (A) and other labelled as
Feason (R). Fead the statements.

Assertion (A) : According to Rogers, all people are capable of growth and personal
development.

Feason (R) : Positive change is a natural and expected progression.

Choose the comect answer from the options given below
1. Both(A)and (R) are true and (B) is the correct explanation of (A)
2.  Both{A)and (E) are true but (R) 15 not the correct explanation of (A)
3. (A)is true but (R) is false

4. (A)is falzse but (R)is true

Options:

64535050387, 1
648350503288, 2
4535050289 2
64535050290 4

Question Number : 123 Question Id : 64635012804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535050387, 1
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Question Number : 124 Question Id : 64635012805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements one labelled as Assertion (A) and other labelled as
Feason (R). Read the statements.

Assertion (A) : If all the assumptions are fulfilled, addition of anv predictor in the
Multiple Regrassion Analysis will inerease the value of coefficient of
determination,

Reason (R) : Cormelation of criterion variables with the predictor variables can be
positive or negative,

Choose the correct answer from the options given below :
1. Both{A) and () are true and (R) is the comect explanation of (A)
2. Both(A)and (R) are true but (R)is not the correct explanation of (A)
3. (A)is true but (F) is false
4. (A)is false but (R)is true

Options:

64535050291, 1
64535050392, 2
64835050292 2
4535050294, 4

Question Number : 124 Question Id : 64635012805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 125 Question Id : 64635012806 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements one labelled as Assertion (A) and other labelled as
Reason (R). Read the statements.

Assertion (A) @ In simple regression analvsis, if the wvalue of one regression
coefficient I:IJI_,‘,}I is less tham 1-00, the value of second regression

coefficient
{b._'l ) has to be less than 1-00.

Feason(R) : The comelation between two vanables x and p i1s equal to
the geometric mean berween the two regression coefficients
(b, and b )

Choose the comrect answer from the options given below :
1.  Both(A) and (R) are true and (R) is the comeet explanation of (A)
2. Both({A) and (E) are true but (R) 15 not the cormrect explanation of (A)
3. (A)is tue but (E) iz false

4. (A)is false but ()15 true

Options:

648350503295, 1
4535050296, 2
E4535050297. 5
64535050298, 4

Question Number : 125 Question Id : 64635012806 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 126 Question Id : 64635012807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements one labelled as Assertion (A) and other labelled as
Reason (R). Fead the statements.

Assertion (A) : The likelihood that fetal alcohol syndrome will occur depends on the
social environment.

Reason (R) : 5ocal influences alse act upon developing the brain and mind.

Choose the comrect answer from the options given below :

1.  Both(A)and (R) are rue and (R) is the correct explanation of (A)

=]

Both (A) and (R) are true but (R) is not the comrect explanation of (A)
3. (A)is wue but (R) is falze
4. (A)is false but (E)is true

Options:

4535050299, 1
64535050400 2
64535050401, =
64535050402, 4

Question Number : 126 Question 1d : 64635012807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

13 5 v fam o 2 fordl v aifiem (A) B AR T30 99 (R) 21 3T 31 ufgm)
i (A) - M EOE A F Ia B i SyE e i w el st 2

@@ (R) . gt vy i wfEr o 79 & e &1 waifaa s 2

3 fr g Faeedt A 9§ wdt g g
L @iRE dFETaa®), &) A adaent
2. (A)SR(R) SHTEEE WG R), (A) @ wg arEm A g
3. (A) WMERgE® TEd
4. (A)TTER WHR) TR

Options:

64535050299, 1
64535050400, 2
64535050401, 2
E4E35050402. 4

Question Number : 127 Question Id : 64635012808 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following sequences of decision making perspectives of prosocial
behaviour is comrect?

1. Perceived need — taking personal responsibility — weighing the cost and
benefits — deciding how to help — help is given

2. Taking personal responsibility — deciding how to help — help is given
= weighing the cost and benefits — perceived need

Lok
v

Weighing the cost and benefits — perceived need — deciding how to help
— help is given — taking personal responsibility

4.  Perceived need — weighing the cost and benefits — deciding how to help
—+ taking personal responsibility — help is given

Options:

64535050403, 1
64535050404, 2
64535050405, 2
E4E35050406. 4

Question Number : 127 Question Id : 64635012808 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafifas e weer & o ot &1 oH-91 50 98 &7

1. vefdd srasgear — wfemd R o1 — TG 3R T &1 3 gAH T
— & AIT B A0 IS FAO FA - L B

2. wfEa fTeEd 0 - 9 e B 90 59F Ee 3 — Heg #1S
— TR 3R T 1 SHA T — FATEE e

3. UG SR WY H1 HIEE WA — FAEE AOWEE — 9 W8g $ W@
TSI BET BT — HGE @ T8 — ST [esignt o

4. vwfi@ oW — NG S WH ST SEF WA >S9 #GE @ @
THS1 BT T — Wi R a9 — Teg B

Options:

4635050403, 1
64535050404, 2
64535050405, =
64535050406, 4

Question Number : 128 Question Id : 64635012809 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Armange the following in correct sequence of development of emotional expressions -

{a) Self-conscious emotions emerge but depend on monitoring and
encouragement of adults.

(b) Expression of happiness increases while interacting with familiar people.
(c) Anger and fear increase in frequency and intensity.
(d) Self-conscious emotions are clearly linked to self-evaluation.

Select the correct option :

L (@)= @) — (c) = (d)
2. () = () = (a) = (d)
3. @)= = (d—(a)
4. ()= (b) = (a) - (d)
Options:
64635050407, 1
£4E835050408. 2

E4E35050403. 3
EAE35050410. 4

Question Number : 128 Question Id : 64635012809 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g w1 yiaaTEs sfbeie & e & I8 &9 H© g o1

(2) HH-I97 wiE vt @1 & @fEa 9F o=l 1 A o v #5
HEEd Bl B

(b) uftfE il § sefem 768w aFe 91 sfimfR ag 9t 2
(c) FUTE NINERAE A HEE I El
(d)  STH-IT HIEATO TP F9 § 3H-He0ie § Hag Bl 81
wet freed 1 907 Sifag
L ® - @ ©->@
2. (b)) = (c) = (@) = (d)
5 0 == =@
4 (& - () - (@) — ()
Options:
E4525050407. 1
E4E25050408. 2

64535050405, 3
64535050410, 4

Question Number : 129 Question 1d : 64635012810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following sequences of Bandura's observational leaming is comect?

1.  Attention process — retention — production — motivation
2. PBetention — attention process — production — motivation
3. Anrention process — motivation — retention — production

4.  Attention process — retention — motivation — production

Options:

64535050411, 1
64835050412 2
64535050412 5
64535050414, 4

Question Number : 129 Question Id : 64635012810 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEN F HeRe ftnm 1 Ffafen # § FF-w sgen w82

1. 3auE Wedl — WauRW — Jae — i
2. wfaumRe - smyE ofew - Saes - sfisim
3. O@UE WET — HIHIRO — WfEURT > JEEA
4. SEYE AT - AR - sfiiRT - IaEs

Options:

64535050411, 1
64535050412 2
64835050412 2
64535050414, 4

Question Number : 130 Question Id : 64635012811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List—I with List—II :

List-I List-II
(Concept) (Description)

(2) Impairment i}  Anyloss or abnormality of psychological,
phvsiological or anatomical structure or
funetion

(b} Disabiliry (i)  Anyrestriction or lack of ability to perform

an activity in age appropriate manner

(c) Handicap (iii) Perception and assessment of one’s abilities
to be lower relative to others’

(d) Disadvantage (v)  Inability to perform with expected norms

Choose the comrect option from those given below :
L (@i )i, (e)ib); (d-iv)
2 (i) (o)-iv); (o) (d)-(ii)
3. (@), (b)G) (e-Gv); (d)-{)
4. @) )G () d-0)



Options:

64535050415, 1
64835050416 2
4535050417, 2
64535050418, 4

Question Number : 130 Question Id : 64635012811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Heli-1 =1 -1 S gifem Fifsm -
-1 T
(HHTETEOT) (faarrm
(@) &fa M e, ok dwnm @ e @t 718 afa
YT SETHRIT
) @) o 9w & =il @ go F e e @
franfea = 3t "arm o divaa St S
(c) Tamama (iii) i @t ger | ot grael S SH A au
i
) dfa (v) i ARl & e S o S s
feu o faeredi § 8 w8 IO &1 904 Sita ;

L (@) (b)) (e, (div)
2. (i) GV (i) (i)
3. (a)u); (o)-G); (e)v); (d)=GD)
4. @iV (e)HiiD); (e-Gi) @)

Options:

64535050415, 1
64535050416, 2
64535050417, =
64535050415, 4

Question Number : 131 Question Id : 64635012812 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List—I with List-II :

List=] List—II
{Psychologist) (Concept)
{a) Carol Ryff (i)  Psyvchological well-being
(b) Seligman (1)  Signature strength
{c) Victor Frankl (iii}  Post-traumatic growth
(d) Suler (iv)  Online inhibition effect

Select the comect option :
Lo (s ()): (e)Hiil); (d-iv)
2. (aHi) (b)Hivk (i) (d)(ii)
3. (D, (o)-E: () (d)-(i)
4. (@), )i (-G (d-0)



Options:

64535050419, 1
64835050420 2
4535050421, 2
64535050422, 4

Question Number : 131 Question Id : 64635012812 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEli-1 B -1 & gARm S -

-1 =11
() (3aTIO)
@ FmiE @ -
) S (i) EmER Wwa
(© fwed= Giy wy-fimm iR
(d) ¥ (iv)  SHITETS WEy e
ae1 freg @1 9= Fife -

1 (@) )G (©)Gi): (d-Gv)

L= ]

(i), vy (ea) (d)Gi)

las

(a)Gn), -Gk (e-{v); (i)
4, (@v)y i) () dr-6)

Options:

64535050419, 1
64535050420, 2
64535050421, 2
E4E35050422. 4

Question Number : 132 Question Id : 64635012813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List=I with List=II :

List-1 List-TI
(Coneept) (Description)
{a) Savouring (i) Applving  consclous  awareness to
enjovment experiences
{b) Hedonic adaptation (ii) Happiness due to circumstances tends to be
temporary
(c) Type-A behaviour (i) Humy syndrome

{(d) Undoing hvpothesis (iv)  Positive emotions lead to a quick recovery
from detrimental effects

Select the corect option :
L (@), (b)), (i), (di-v)
2. (i) (v ()0 (d)ii)
3.0 (@) (b)) (eHiv) (dHii)
4 (ar0v); (i) (-, ()

Options:

64535050423, 1
64535050424 2
64835050425 =2
4535050426, 4

Question Number : 132 Question Id : 64635012813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt ot efi-11 & gaite i -
-1 FEi-I1
(- HEHIOm) (ST
(@) Hafm G) A SR S AT
Hqval T A FE
(b) TEG ) Ryt s e fefh vaem
i Bidi e
(¢) emEo-ufRfmw (i) it AHV-HE
(d) srTgEeEudtEy (iv) TENES S99 giHeRE wE §
GEGAEEIGACRIGES
Tt fimeg 71 909 Fifaw

L (@) (i) ()il (di-Hiv)
2. (e, (o)v); ()= (d)(iii)
3. () @) (e-iv): (d)Hi)
4 (@Hiv): @)D, (- (d-0

Options:

64535050423, 1
64835050424 2
4535050425 2
64535050426, 4



Question Number : 133 Question Id : 64635012814 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with List—II :

List=I List=II
(Concept) {(Explanation)
(2) Mental representation (i)  Building schemas through direct interaction
with environment
(b) Operations (i) Using current schemas to interpret the
external world
{(e) Adaptation {iii) The ability to remember and copy the

behaviour of models who are not present

(d) Assimilation (iv)  Mental representation of actions they abey
using logical rules

Select the correct option :

L (aiv); (i), (e(i); (dd)
2 (M), () (i), (dH(i)
3 (aHid); (b)iv); (ei) (d)(i)
4 (M) (G (i), (dH)

Options:

E4E35050427. 1

cAdeZE050428. 2

E4E35050429 2

E4E35050420. 4

Question Number : 133 Question Id : 64635012814 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 B -1 & RE S
-1 TE-II
(SHEEOm) ()
() wAI-wfaffim 0] F Ty At safFm s
ey F Asfia s
b) Wer (i) TOHH S S W G
fay St = F4
(e) HITTH (i)  srgofeud ufeswl & oage =1
TN HR SN EH F1 A
(d) SHTeTTTaRLO (v) e el = e S g
Tearatt &1 Ti-wiamiE
el fasen =1 909 Fifeu -

Lo @rav) (b)-u) (c-(); (d)-(u)
2. () MGy (i) (d)-(Gid)
300 () )-iv): (G (d)i)
4. (@) (oG (e-Gv) (d)-GiD)
Options:
64535050427, 1

E4E25050428. 2
E4B25050429. 3



EAE35050430. 4

Question Number : 134 Question Id : 64635012815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

March List=I with List—II :

List-I List-II
{(Concept) {(Description)

(a) Reward power (i)  Potential to deliver threats and punishment
to others

() Coercive power (i) Authority of a person by virtue of certain
characteristics

(c) Referent power (iii} Positive reinforcement to produce change

(d) Legitimate power (iv) Powertoinfluence others

Select the correct option :
Lo (@il ()G ()=iv); (d-0)
2. (@yrGv) ), ()G (dr-G)
300 (aHud); (b (eiv): (d)Hi)
4. (@) (i) (-v) (d)-(ii)

Options:

64535050431, 1
64535050432, 2
64835050422 =2
4535050424 4

Question Number : 134 Question Id : 64635012815 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Teft-1 =t Et-11 & e Fife -
T FH-II
(3HIUTIUM) (feram)
(a) TR EE () R @ e AR A wa
T
(b) @Eg |fEa () oo RS S e ate
Eaftukicacd
() FrémafE Giy dhER F} oo By TEREE
LR
(d) Iu=E (v) gad & mifEd & i mfEa
e e 1 90 Fifor -

1. @), ®Hi): (Hiv): (dHD

2. Q@Hiv) (b)), (c0i); (d-()

3. @Hu) Gk 0wy dH-i)

4. (A Gy (e)Gv); (d)(ii)
Options:

E4535050421. 1
64535050432, 2



E4E35050433. 3
B4535050434. 4

Question Number : 135 Question Id : 64635012816 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List=I with List=II :

List=I List=II
(Concept)

(Psvcho

logist)
(a) Kelley (i) Constructive altemativism
(b} Ewsenck (i) Hedonictone
(c) Catrell (i) Hypothetico-deductive spiral
(dy Hull {iv) PResponse hierarchies

Select the correct option :
Lo (@i )Gy (i) (dr-Gv)
2. (@) (Gv) (e)-) (d)Gii)
30 (@ (G ()i (d)-Gv)
4. (@) (HD: (Hiv); ()il

Options:

645350504355 1
64535050426, 2
64535050437 =
64535050435, 4

Question Number : 135 Question 1d : 64635012816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

-1 =1 11 S gafm Fifem
-1 He-11
() ()
(2) el i) TS Aewae
) omEES @) TSI
(c) wea (i) RIS - FTHATHS Gide
(d) &m (iv) Wil agE
Ho! faFen &1 997 i -

Lo (@) ()Gii); (c}Gi); (d)-Gv)
2. (@) mrGv); (D) ()il
3.0 (@A M) (i (d-Gv)
4. (i) 0); (©-0v); (d)(ii)

Options:
64535050435, 1



E4E35050436. 2
B4535050437. 3
645350504358, 4

Question Number : 136 Question 1d : 64635012817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List—I with List—II -

List—I List-II
(Tvpe of Skin Receptors) {Sensorv Function)
(2) Moeissner’s corpuscles (i) Cold
(b) DPacinian eorpuscles ({ii) Pain
(c) Krauser's end bulbs (i) Touch
(d) Freenerve ending (av)  Pressure

Select the comrect option :
L (i), )Hiv); (e, (dE)
2. (@i ®)y-0v): (i) (@i
3. (ariv) (0 () (d-Ga)
4. (a(iv); (b)GL); (o)), (dx0)

Options:

43505043591

C4E2E050440. 2

64535050441, 3
64535050442, 4

Question Number : 136 Question Id : 64635012817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Helt-1 1 Fet-11 | Ekta Sk -

- =11
(1 IR & W) (H3 FT)
(@) HEER FRRHE @ 9%
(b) AT P )
(€) TUSHWS T Gi) =
(d) A F U= v) T |
et foeen @ 9a= Sifem -

Lo (@) eGv) (i) (d)-0)
L (@) ©iv) (-6 (d)ii)
300 (aivy () () (d)-id)
4. (aHv) (b)) (o)) (d-0)

Options:
E4E35050459. 1



E4E35050440. 2
64535050441, 3
64535050447, 4

Question Number : 137 Question 1d : 64635012818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Mateh List—I with List—II :

List=1 List-II
(Concept) (Description)

(a) Naturalistic intelligence (i) Skl cmtical and importamt  for
archaeclogists and botanists

(b} Cognitive processing speed m) Abilitv to execute easv and highly
overlearmed cognitive tasks

(c) Meta-components (iii)  Mental PIOCESSES individuals use
effectively to guide their problem-solving
efforts

(d) Motivating oneself (iv) Delaying  gratification and  stifling

impulsiveness

Select the correct option :
1 (@) ()G, (eGii); (dr-Gv)
2. (@M &) H0v): (dHiiD)
3. (el (b-av) (e (d-ai)
4. @) (bGu) (e)Gi); (d-0)

Options:
E452505044= 1

E4E35050444, 2
E4535050445, 3
E453505044E. 4

Question Number : 137 Question 1d : 64635012818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



-1 =1 ei-11 9 et Sy

-1 -1
(| HEUM) (Faam)
@ =TvR=IR () [owEE AR FTetheEt & R
faafem oiv newgul givam
(b) RS WS T (i) HEE R s 9 W s
w1l & fere= Fi g
(c) #e-HuH=E (i) i ool AN & HAIWTH &
vl # ArleRR F fm aefhe
wiwansit @1 o S
@) AT afifEsE o) o g S owie d fads ek
et o Frdsm
o Rwea =1 90 Sifem -

L (@) (b)), (o)), (dHiv)
2 (@) (o) (V) (d)(Gii)
3. (arm); (Hav) () (i)
4. (apv); (b)), (e)p-(i); (d)0)

Options:
E452505044= 1

E4E35050444, 2
E4E35050445, 3
E453505044E. 4

Question Number : 138 Question Id : 64635012819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List—I with List—II :

List-I List—II
(Concept) (Description)

(a) Big=C creativity (1)  Creativity of eminence

(b} LitdeC crearivity ({ii) Creativity of evervday life recognised by
others

(c) Minei=C creativity ()  Subjective and personal form of dav-to-dav
creativity

(d) Pro—C ereativity (iv) Professiomal ecreativity which has not

attained status of eminence
Select the comrect option :
1. (aa) b)) (cr(ui); (dr-(v)
20 (aH) (b)) (e)iv): (d)ii)
3. (@i (bHiv); (e (d)H)
4 (av) ()-Gi); (e)-(); (d-0)

Options:
64535050447, 1
64835050448, 2

E4E525050445 3



E4E35050450. 4

Question Number : 138 Question Id : 64635012819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 &1 gE-11 @ gt aif -
Heft-1 Hei-11
(3FETN) (feraom)

@) o=t gemm @  IPE Faal

) ety i)y TEm e B g, faet o
T G &

() Torft-fi goan (i) Fr-sfRfEE goa &1 J@EE iR
ofEs ¥

(d) w3 gorrar Gv) TRR , forea ooy Rufy wra
?ﬁfaﬁg

el faeg &1 994 Fifag
Lo () (i), (i) (di-iv)
2. (@) (06 (-Gv): (d)-(ii)
3. (apii) (b)-(iv): (e)-0); (d)Hii)
4. (arGvk (o)Gin); (- ([dH-i)

Options:
4525050447 1

E4E35050445. 2
E4E35050445. 3
E4535050450. 4

Question Number : 139 Question 1d : 64635012820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
March List—T with List—II :

List—I List-II
(Schools of Psvchology) (Concepr)
{a) Psvchoanalvsis {i)  Elements of conscious experience
(b) Behavicurism i) Self-actualization
() Structuralism (i) Unconscious processes
(d) Transpersonal Psvchology (iv)  S5-R relations

Select the comrect option :
Lo (ay-Guy, ()G (e)-Gv): (d)-Gi)
1 (i) G)iv); () (i)
3. (@) (b)) (e)(i): (d)ii)
4 (@) i) (-iv): (d)-im)

Options:
64835050451, 1
64535050452 2



E4E35050453. 3
E4535050454. 4

Question Number : 139 Question Id : 64635012820 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 F1 -1 | gaitm Fife

-1 -1
(AT i ) (HTHUTIM)
{a) wEIfwEEm i) T SGHIF T
(b) =IEENaE (i)  onE-wesfEm
(c) TR (i) s AfeaTy
(d) FreEE e Gv) SREEY
T e 1 7a7 #ife -

T (a)=(il); (b)), (v, (dyGi)
2. (i) G (ed-d); (d)-G)

(a)-G) ®av) (e (d-Gi)

e

4. (a)k ) -0v) (d)Gi)

Options:

64535050451, 1
64535050452, 2
64835050452 =2
4535050454 4

Question Number : 140 Question Id : 64635012821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List=I with List=II :

List=I List=IT
(Psvchalogist) (Definition)
(a) Binet and Simon (1) The power of good response from the
perspective of truth or faet
(k) Terman (i} The capacity to judge, understand and
reason well
{c) Thomdike (i) The capacity to form concepts and grasp

their significance

(d) Ewsenck M. W. (iv) Ermor-free transmission of information
through the cortex

Select the correct option :
Lo (aHiv), (b)), (e)-): (d)(ii)
20 (a0 (b)) (i) (dHiv)
300 (a); (b)) (i) (dHiv)
40 (), (b (cHiv); (d)-0)

Options:
64235050455, 1



E4E35050456. 2
64535050457, 3
64535050458, 4

Question Number : 140 Question Id : 64635012821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 =t gh-11 & gafem Fifer -
w1 w1
(FTaT) (TtHTE)
(@) 7 i amge () OO qu & e # &Y wee
EakEal
(b) =TT (i) =21 avg fin =93, |ugE au 95
23 3 e
(c) uisms (i) EURMH F T AR IS FEd
T ORI T W &
(d) smgfis, TH B, (iv) TFe & TE FEOa &1 FR-AgH
PELE
ot frea &1 90 Sitfam -
1L @-v); (Gid), (e (d)-)
2 (@@ ®G); (G (d-av)
3. (@) ®GE); (-0); (d-iv)
4. (arGi) (G (eGv); (d-G)
Options:
C4EZ5050455 1
CE4EZE05045E. 2
4025050457, 2
64635050455 4
Sub-Section Number : 2
Sub-Section Id: 646350601
Question Shuffling Allowed : Yes

Question Id : 64635012822 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label | Comprehension

F.ead the following paragraph and answer the five questions which follow :

A psvchologist wanted to develop an achievement test in Chemistry for SSC students of
central schools. For this purpose, he wrote 110 items having multiple-choice format. He
administered this draft version to a sample of 300 subjects. Item analysis was carried out by
computing item-remainder comrelations. The item analvsis retained 80 items. The eighty-item
version was administered to a fresh sample of 400 subjects which vielded a mean of 40-00
and standard dewviation of 8-00. The scores were found to be normally distributed. Cronbach
alpha for eightv-item wversion was found to be 0-94, The psychologist also computed odd-
even reliability and Kuder-Richardson (K-R) reliability for this version. On this version, cne
of the subjects Manas, had a score of 32. Since the sightv-item version was considered long
for administration, two forms, Form 4 and Form B were prepared by randomly assigning 40
items to each form.

Sub questions



Question Number : 141 Question Id : 64635012823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

For computing item-remainder comelations, which one of the following comelations
would be suitable?

1. Phi-coefficient
2. Contingency coefficient
3. Point-biserial correlation

4.  Tetrachorc comrelation

Options:
45250504559 1

E4E350504E60. 2
E4E35050461. 3
BAE3505046%. 4

Question Number : 142 Question 1d : 64635012824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the abave study, the psvehologist computed three reliability coefficients :
(a) Cronbach alpha
(b}  Split-half reliability coefficient
(c) Kuder-Richardson (K-R) reliabilitv coefficient
Which one of the following expectations is true?
1. (a), (b) and (c) would be the same
2. (a) and (c) would be the same, but (b) can be different
3. (b) and (c) would be the same but (a) would be different
4.  (a), (b) and (c), all three would be different

Options:

64535050463, 1
64535050464, 2
E4E35050465. 2
4535050466, 4

Question Number : 143 Question Id : 64635012825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The expected Cronbach alpha for Form A would be

1. 047
2. 089
. 062

4 094



Options:

64535050467, 1
64835050468, 2
4535050469 2
64535050470, 4

Question Number : 144 Question Id : 64635012826 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The score of 32 (score obtained by Manas on eightv-item version) would comespond to
percentile rank

1 16
2 32
3 80
4, 84
Options:

E4E35050471. 1
EAE35050472. 2
64535050473, 3
64535050474, 4

Question Number : 145 Question 1d : 64635012827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The 95% confidence interval for the true score of 32 would be

1. 32x0-94

2 32+1-9%6

3 32600

4 32384
Options:

64535050475, 1
64535050476, 2
EAE35050477. 3
E4E35050478. 4

Question Id : 64635012822 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label | Comprehension
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TTF | Wt 1 W w9 & faatd o man st uet & v & R sede owwn 0-94
O 74| FEIEEET A 3 W & g w-fae e o Fge (K-R) ys-maam
@1 i MU 11 U faudl A9E A 56 W H 32 of Ui e die sl He &1 o T S
ﬂmnmg:gEﬂmﬁéﬁﬁﬁ—qﬁiﬁﬂhmﬁLﬁﬁmiﬁmﬂﬁﬂﬁﬁﬂﬁﬁﬂuﬁﬁr"$ﬂﬂ4ﬂ
TEET g1 f

Sub questions

Question Number : 141 Question Id : 64635012823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

He-¥m geaadl ot oA & o FefafEe § @ 919 @ asdesy gugea gm?

1. HE-TUiE

2. et s

3. fig-fedi weddy

4, EIHIE HpEay
Options:
64535050459 1
B4E350504E60. 2
E4E35050461 3
E4de35050462. 4

Question Number : 142 Question Id : 64635012824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TRTE S A AR A @4 R qoie #1 e #
(2) BHEE HFTH
(b) r@-wfEa Ry i
(0 gst-feade Reiaa s

o § 3 St o 58 &2
L (). ()R (o) FEE
2. (a) AR (c) T B, foreg () i@ B o @
3. (b) R (c) T &M, g a) i €
4 (2. ) M (o), WA B g

Options:

B4635050463. 1

84635050464, 2

64535050465, 3
64535050466, 4



Question Number : 143 Question Id : 64635012825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FiH-U & o wiRe #iEs He% gm
1 0-47
2. D&%
3. D-62
4. 094
Options:

E4E350504E67. 1
E4E35050468. 2
B45350504645. 3
64535050470, 4

Question Number : 144 Question 1d : 64635012826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
(aredt Wl % ollermr R WS TR W) 32 ofF e wawe urate sife & 9hE 27

1. 15

2. 32
. 0
4 &

Options:

64535050471, 1
64535050472, 2
64535050473 2
E4E35050474. 4

Question Number : 145 Question Id : 64635012827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TE vt 32 %1 95% fwrg stae am

1. 32094
2. 32%1-96
3. 321600
4 32£35-84

Options:



E4E35050475. 1
64535050476, 2
64535050477, 3
64535050475, 4

Sub-Section Number: 3
Sub-Section 1d: 646350602
Question Shuffling Allowed : Yes

Question Id : 64635012828 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

Read the following paragraph and answer the five questions which follow :

A researcher wanted to study the effect of orgamization of material (4) on recall. She
expected that retention interval (B) would moderate the effect of organization of material. She
varied 4 at three levels—Low organization, Moderate organization, and High organization.
She varied B at two levels—Short retention interval and Long retention interval. The subjects
were randomly assigned to the different groups. Each subject received the list of words with
specified level of organization. Each of them leamt the list upto one ervorless trial and was
tested after the specified retention interval. All the subjects had also received the intelligence
test. The number of items, recalled bw the subject, was the dependent variable. The data were
analyzed by the appropriate ANOVA, treating intelligence as a covariate. The partial results
are given here—(i) the sum of squares for organization of material (4) was 255-00; (ii) the
degrees of freedom for error variance was 115; (iii) the F ratio for interaction (4=B) was
0-93_ The obtained results were appropriately interpreted.

Sub questions

Question Number : 146 Question Id : 64635012829 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How many subjects have been employed in this study?

1. 116
2. 120
3. 121
4 122
Options:

645350504759, 1
64535050480, 2
64535050481, 3
EAE35050482. 4

Question Number : 147 Question Id : 64635012830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The design in the above study can be best labelled as

1. randomized single-factor six-group design with a covariate

Pt

randomized balanced 3=2 factorial design with a covariate
3. randomized unbalaneed 32 factorial design with a covariate

4. randemized 3=2 blocked factorial design with a covariate

Options:

46350504583, 1
64535050484, 2
64535050485 =
64535050456, 4

Question Number : 148 Question 1d : 64635012831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The ‘mean square’ for organization of material would be

1. 42-50
2. 12750
3. B500
4. 25500

Options:

46350504587, 1
64535050488, 2
64535050489, =
64535050430, 4

Question Number : 149 Question 1d : 64635012832 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What wauld be the degrees of freedom for covariate?

I i

2 i

X 5

4 &
Options:

64535050431, 1
64535050432, 2
E4E35050433. 3
E4E350504354. 4

Question Number : 150 Question Id : 64635012833 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the above results, it can be concluded that
1. main effect of organization of material is significant
2. main effect of organization of material is non-significant
3. retention interval does not moderate the effect of organization of material

4. retention interval moderates the effect of crganization of material

Options:

64535050495, 1
64535050496, 2
E4E35050497. 2
4535050495, 4

Question Id : 64635012828 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

frafafa e = ofey AR 5% &g fag o ofs wet % o difee -
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Wi faud & us TOTH d% T F1 dE o vds vt & fan vfaumw seva & ae
witen fesa man ) wt fawgt & gf e o gan Rt g et vt 2t Sem &1 g fem
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Sub questions

Question Number : 146 Question Id : 64635012829 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=9 suge o faae fmat &t aftfém i mm 22

1. 116
2. 120
3. 1
4 122
Options:

645350504739, 1
E4E35050450. 2
E4E35050481. 3
EAE35050482. 4

Question Number : 147 Question Id : 64635012830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



THTE HuH H e A #1 S1H9-9 F6ieH A9 5 961 52
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3. UF WE-WE & WY Ui gt 32 SRE Him
4. UF WE-THS & 91 GTefadd 3x2 300G FHa HHFw

Options:

64535050483, 1
64535050454, 2
64535050485 =
64835050456, 4

Question Number : 148 Question 1d : 64635012831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tt WTe @ A @l g

1.  42-50
2. 127-50
3 8500
4. 23500
Options:

64535050487, 1
E4E35050488. 2
E4E35050489. 3
E4E35050430. 4

Question Number : 149 Question Id : 64635012832 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

- @ Hidd-mie ol gii?
1. 1
2 2
3. 5
4, 6
Options:

E45350504591. 1
B4E350504352. 2
645350504383, 3
64535050434, 4

Question Number : 150 Question Id : 64635012833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

Tt ETe w1 e W aury 2

T TS 1 e WIS guTd a8

TR SieTe W -EE & WIS @ i T @
Aty sicoe - de S v S i s

E4535050455. 1
E4E35050456. 2
64535050457, 3
645350504358, 4



